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Model Test 7(General Tamil) - TNPSC Group 2 (A)
1. fPo;f;fz;l $w;Wfspy; rhpahdit? 

1. xyp vof; fhuzkhd fhw;W epiyngWk; 

,lq;fisf; fhw;wiwfs; vdTk;> xyp 

vOtjw;Ff; Jiz nra;Ak; cWg;Gfis 

xypg;GKidfs; vdTk; $Wth;. 

2. 12 capnuOj;Jf;fSk;> ,ilapd vOj;Jf;fs; 

MWk; fOj;jpypUe;J gpwf;fpd;wd. 

3. nky;ypd vOj;Jf;fs; MWk; jiyapypUe;J 

gpwf;fpd;wd. 

4. ty;ypd vOj;Jf;fs; MWk; khh;gpypUe;J 

gpwf;fpd;wd. 

A) 1 2 3; rhp  B) 1 2 4; rhp 

C) 2 3 4; rhp  D) 1 2 3 4 rhp 

2. nghUj;Jf 

1) kf;fs;       - fl;L 

 2) tPuh;          - gil 

3) tpwF       - $l;lk; 

4) itf;Nfhy; - Nghh; 

A) 3 4 2 1   B) 3 4 1 2 

C)  3 2 1 4  D)   3 1 2 4 

3. nghUj;Jf 

 1) xz;jhiu       - ,isagR 

 2) klehF         - ,sq;fhis 

3) kotpil    - xspkpf;f khiy 

4) kWF    - mur tPjp 

A) 3 1 2 4   B) 3 2 4 1 

C)  3 4 1 2  D) 3 1 4 2 

4. “fd;dy; nghUs; jUk; jkpNo eP Xh; g+f;fhL. 

ehNdhh; Jk;gp! vd;w ghly; thpia ghbath;? 

A) ghujpahh;  B) ghujpjhrd; 

C)  fk;gh;   D)  ftpkzp 

5. nghUj;Jf 

 1) <r;rk;          - $e;jy; 

 2) jhio          - jio 

3) Ntg;gk;  - xiy 

4) fK$k;  - kly; 

A) 3 4 2 1   B) 3 2 4 1 

C)  3 2 1 4   D)   3 1 4 2 

6. nghUj;Jf 

 1) Myk; - nfhy;iy 

 2) njd;id - Njhl;lk; 

3) g+  - Njhg;G 

4) fk;G  - fhL 

A) 1 2 3 4   B) 2 3 1 4 

C)  3 1 4 2  D)   4 3 2 1 

7. mryhk;gpif mk;ikahh; gw;wpa $w;Wfspy; 

rhpahdJ? 

1) rpjk;guj;jpw;F mUfpy; cs;s ,ul;lizapy; 

gpwe;jhh; 

2) Mj;jpr;R+b ntz;gh> jpyfh; Guhzk;> Foe;ij 

Rthkpfs; gjpfk; Kjypa Ehy;fis ,th; 

,aw;wpAs;shh; 

3) ,tiu ,f;fhy mt;itahh; vd;W jpU.tp.f 

ghuhl;Lfpwhh; 

4) ,th; gyfhyk; jpUg;ghjphpg; Gypa+hpy; 

tho;e;jhh; 

A) 1 2 3 rhp  B) 1 3 4 rhp 

C)  2 3 4 rhp  D)  1 2 3 4 rhp 

8. fPo;f;fz;l $w;Wfspy; rhpahdit? 

A) kplW vd;why; fOj;J vd;Wk; cuk; vd;why; 

khh;G vd;Wk; nghUs;gLk;. 

B) Ma;jkhfpa rhh;ngOj;J jiyia ,lkhff; 

nfhz;L gpwf;fpwJ. 
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C),uz;L cjLfs; jlTtjhy; ;gpwf;Fk; 

vOj;Jf;fs; g;>k; MFk;. 

D) 1,2 kl;Lk; rhp 

9. fPo;f;fz;l $w;Wfspy; rhpahdit? 

1. jd; Jiztpahh; ,wg;gpYk; flik 

czh;Tld; tho;e;jth; gk;ky; rk;ke;jdhh; Mthh;. 

2. rpWgQ;r %yj;jpyd; Mrphpah; fz;zjhrd; 

Mthh;. 

3. fhhpahrd; kJiuj; jkpohrphpah; khf;fhadhhpd; 

khzth; vdr; rpwg;Gg;ghapuk; $WfpwJ. 

4. fhhpahrd; rkz rkaj;ijr; rhh;e;jth;. 

fhhpahrDk;> fzpNkjhtpaUk; xU rhiy 

khzf;fuhthh;. 

A) 1 2 3; rhp  B) 1 3 4; rhp 

C)  2 3 4; rhp  D)  1 2 3 4 rhp 

10. “tuyhw;Wr; nra;jpfSk;> ,yf;fzf; 

tpsf;fq;fSk;> Gjpa ctikfSk; ahUila 

ghly;fspy; mjpfk; fhzg;gLk;? 

A) Kbaurd;  B) Rujh 

C) thzpjhrd;  D) fz;zjhrd; 

11. “Ky;iyf;Nfhh; fhLNghYk; Kj;Jf;Nfhh; flNy 

NghYk;” vDk; ghlypy; Rujh ahiug; 

Gfo;e;Js;shh;? 

A) kiwkiy mbfs; B) kPdhl;rp Re;judhh; 

C) ghujpahh;  D) ghujpjhrd; 

12. “eP kPz;Lk; Njhd;wpa ghujpalh” vd;W fy;ahz 

Re;juj;ij ghuhl;bath 

A) kUjfhrp 

B) Rujh 

C) cLkiy ehuhaz ftp 

D) NjhoH [Pthde;jk; 

13. Njrpak; fhj;j nrk;ky; vd;W ghuhl;lg; ngw;wtH 

ahH? 

A) jpU.tp.f 

B) kiwkiyabfs; 

C) ngUQ;rpj;jpudhH 

D) Kj;Juhkypq;fH 

14. “jd;Nd hpyhj jkpo;” ,j;njhlH ,lk; ngw;w 

E}y; 

A) jpUf;Fws;  B) njhy;fhg;gpak; 

C) jz;bayq;fhuk;  D) ed;D}y; 

15. “cyfpd; Kjy; ,U Kiwikfisg; gw;wpa 

ciuahly;” vd;Dk; E}y; ntspte;j Mz;L 

A) 1638   B) 1642 

C) 1632   D) 1616 
16. fPo;f;fz;l $w;Wfspy; rhpahdit? 

1. mnkhpf;ff; ftpQh; thy;l;tpl;kdpd; rhaypy; 

ghujpahh; trd ftpij vOjpdhh;. 

2. ghujpjhrdp;d ciueilfs; midj;Jk; trd 

eil nfhz;lit. 

3. e. gpr;r%h;j;jp> GJikg;gpj;jd;> F.g. 

uhrNfhghyd;> f.eh. Rg;ukzpad; KjypNahh; 

njhlf;fj;jpy; kzpf;nfhb vd;Dk; ,ljpy; 

GJf;ftpij vOjpdhh;. 

4. itj;jP];tud;> jUK. rptuhK> kzp> 

rp.R.nry;yg;gh KjypNahh; vOj;J vd;Dk; 

,jopy; Gjf;ftpijfis gilj;jdh; 

A) 1 2 3; rhp  B) 1 3 4; rhp 

C)  2 3 4 rhp  D)  1 2 3 4 rhp 

17. fPo;f;fz;l $w;Wfspy; rhpahdit? 

1. GwehDhw;wpd; ghly;fis Mq;fpyj;jpy; nkhop 

ngah;j;jth; [p.A.Nghg; Mthh;. 

2. FWe;njhif 3-6 mbtiuaiwiar; 

nfhz;Ls;sJ. 

3. FWe;njhifia njhFj;jth; G+hpf;Nfh Mthh;. 

4. FWe;njhif flTs; tho;j;Jg; ghliy 

Nrh;j;J 405 ghly;fisf; nfhz;Ls;sJ. 

A) 1 2 3 kl;Lk; rhp B) 1 3 kl;Lk; rhp 

C)  2 3 4 kl;Lk; rhp D)  1 2 3 4 rhp 

18. nghUj;Jf 

1. kJiuf; fhz;lk; - - gjpdhW glyk; 

2. $ly; fhz;lk; - - gjpndl;L glyk; 

3. jpUthytha; 

fhz;lk; 

- - Kg;gJ glyk; 

A) 2 3 1   B) 3 2 1 

C)  3 1 2   D)  1 3 2 

19. ,ay;G tof;F vj;jid tifg;gLk;? 

A) 2   B) 3 

C)  4   D)  5 

20. ,uz;lhk; Ntw;Wik gw;wpa $w;Wfspy; 

rhpahdit vit? 
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A),J Mf;fy;> mopj;jy;> miljy;> ePj;jy;> 

vy;iy> cilik vd MWtif nghUs;fspy; 

tUk; 

B),J nrag;ghl;Ltpid Ntw;Wik vdTk; 

miof;fg;gLfpwJ 

C)  ,jd; Ntw;Wik cUG „I‟ vdg;gLk; 
21. tpidKw;W> ngah;r;nrhy;> tpdhr;nrhy; 

Mfpatw;Ws; xd;wpid gadpiyf; nfhz;l 

KbtJ? 

A) ehd;fhk; Ntw;Wik B),uz;lhk; Ntw;Wik 

C)  Kjy; Ntw;Wik D)  Mwhk; Ntw;Wik 

22. fpoikg; nghUspy; tUtJ 

A) %d;whk; Ntw;Wik B) Mwhk; Ntw;Wik  

C)  vl;lhk; Ntw;Wik D) Ie;jhk; Ntw;Wik 

23. nghUj;Jf 

 1) Kjy; Ntw;Wik - fpisapd;fz; fhfk; 

 2) %d;whk; Ntw;Wik -fy;tpapy;nghpah; fk;gh; 

3) Ie;jhk; Ntw;Wik - kuj;jhy; nra;jJ 

4) Vohk; Ntw;Wik - mtd; ahh;? 

A) 3 2 1 4   B) 4 3 1 2  

C) 4 2 3 1   D)   4 3 2 1 

24. ,tw;wpy; ty;ypdk; kpFk; ,lq;fs; rhpahdit? 

1) m> , vDk; Rl;nlOj;Jf;fspd; gpd; 

ty;ypdk; kpFk; 

2) me;j> ,e;j vDk; nrhw;fspd; gpd; ty;ypdk; 

kpFk; 

3) mg;gb> ,g;gb> vg;gb vDk; nrhy;ypd; gpd; 

ty;ypdk; kpFk; 

4) mJ> ,J> vJ vDk; nrhw;fspd; gpd; 

ty;ypdk; kpFk; 

A) 1 2 3 rhp  B) 1 3 4 rhp 

C)  1 2 4 rhp  D) 1 2 3 4 rhp 

25. gpd;tUtdtw;wpy; ty;ypdk; kpFk; ,lq;fspy; 

rhpahdit? 

1) ,dp> jdp> kw;W> kw;w> kw;iw vDk; 

nrhw;fspd; gpd; ty;ypdk; kpFk; 

2) 2k;> 5k; Ntw;Wik tpjpapy; ty;ypdk; kpFk; 

3) 2> 3> 5> 7 Ntw;Wik cUGk; gaDk; 

cld;njhf;f njhifapy; ty;ypdk; kpFk; 

4) 7k; Ntw;Wikj; njhifapy; ty;ypdk; kpFk; 

A) 1 2 3 rhp  B) 1 3 4 rhp 

C)  1 2 4 rhp  D)  1 2 3 4 rhp 

26. “ngha; nrhy;yh khzpf;fk;” vd 

miof;fg;gl;lth; 

A) c.Nt.rh  B) t.Rg.kh 

C)  t.Nt.R  D)  t.c.rp 

27. Kbaurd; tho;e;j fhyk;? 

A) 1930 – 1998  B) 1920 – 1998 

C)  1924 – 1998  D)  1927 - 1998 

28. nghUj;Jf 

1) jkpopd; njhd;ikia 

cyfwpa nra;jth; - NjtNea  

  ghthdhh; 

2) jdpj;jkpOf;F - ghpjpkhw;fiyQh; 

tpj;jpl;lth;  

3) jkpio jiof;f - kiwkiymbfs; 

nra;j nrk;ky;  

4) jkpio Mnyd 

 tsh;j;J khz;Gw - fhh;Lnty; 

nra;jth;  

A) 4 3 2 1   B) 4 3 1 2 

C)  4 2 3 1   D)   4 1 2 3 

29. jkpio tlnkhop ty;yhz;ikapdpd;Wk; 

kPl;gjw;fhhfNt ,iwtd; vd;idg; gilj;jhd; 

vdf; $wpath;? 

A) ghpjpkhw; fiyQh; 

B) NjtNea ghthzh; 

C)  kiwkiymbfs; 

D)  ngUQ;rpj;jpudhh; 

30. “vdf;F tWikAk; cz;L kidtp kf;fSk; 

cz;L mtw;NwhL khdKk; cz;L” vd;W 

$wpath;? 

A) jpU.tp.f 

B) kfhtpj;Jthd; kPdhl;rpRe;judhh; 

C)  gk;gky; rk;ke;jdhh; 

D)  NjtNea ghtdhh; 
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31. ghthzh; Nfhl;lk;, ghtzh; KO cUtr;rpiy, 

ghthzh; ngahpy; Ehyfk; Mfpait 

mike;Js;s ,lk;? 

A) rq;fud; Nfhtpy; B) uh[ghisak; 

C)  nrd;id  D)  kJiu 

32.  “gFj;jwpTf; ftpuhaH” vdj; jkpof kf;fshy; 
miof;fg;gLgtH 

A) nghpahH   

B) mz;zh 

C) ghujpahH   

D) cLkiy ehuhaz ftp 

33. “MHfyp cyfj;J kf;fl;nfy;yhk; 

Xjypy; rpwe;jd;(W) xOf;fk; cilik” - 

,t;tbfs; ,lk; ngw;Ws;s E}y; 

A) mwTiuf; Nfhit 

B) GwehD}W 

C) ed;ndwp 

D) ew;wpiz 

34. “ItH flik”ia czHj;Jk; E}y; 

A) GwehD}W   

B) ,dpait ehw;gJ 

C) Vyhjp 

D) fhH ehw;gJ 
35. fPo;f;fz;l $w;Wfspy; rhpahdit? 

1. kQ;rs; neQ;rpYs;s rspia ePf;Fk;. 

2. nfhj;Jky;yp gpj;jj;ijg; Nghf;Fk;. 

3. rPufk; ePhf;fl;il vLf;Fk; 

4. kpsF njhz;ilf; fl;ilj; njhiyf;Fk;. 

A) 1 2 3 kl;Lk; rhp B) 1 3 4 kl;Lk; rhp 

C)  2 3 4 kl;Lk; rhp D)  1 2 4 rhp 

36. fPo;f;fz;l $w;Wfspy; rhpahdit? 

A) l> u> xw;W ,ul;bf;Fk; ,lj;jpy; ty;ypdk; 

kpFk;. 

B) chpr;nrhw;fspy; gpd; ty;ypdk; kpFk;. 

C) Ma;> vd> ,dp> Mf Kjypa 

,ilr;nrhw;fspd; gpd; ty;ypdk; kpfhJ. 

D) midj;Jk; rhp 

37. ty;ypdk; kpfh ,lq;fspy; rhpahdit? 

1. mJ> ,J> mit> ,it vDk; 

Rl;Lr;nrhw;fspd; gpd;Dk;> vJ> vit vDk; 

tpdhr;nrhw;fspd; gpd;Dk; ty;ypdk; kpfhJ. 

2. M> V> X vDk; tpdh vOj;Jf;fspd; gpd; 

ty;ypdk; kpfhJ. 

3. vOtha;j;njhlhpy; ty;ypdk; kpFk;.  

4. mj;jid> ,j;jid> vj;jid vDk; 

nrhw;fSf;Fg; gpd; ty;ypdk; kpFk;. 

A) 1 2 3 kl;Lk; rhp B) 1 3 4 kl;Lk; rhp 

C)  2 3 4 kl;Lk; rhp D)  1 2 kl;Lk; rhp 

38. ty;ypdk; kpfh ,lq;fpsy; rhpahdit? 

A) mj;jid> ,j;jid> vj;jid vDk; 

nrhw;fSf;Fg; gpd; ty;ypdk; kpfhJ. 

B) tpidj;njhif> ctikj;njhif tpaq;Nfhs; 

tpidKw;W> nganur;rk; ,ul;ilf; fpstp> 

mLf;Fj;njhlh; Nghd;wtw;wpy; ty;ypdk; kpfhJ. 

C),uz;lhk; Ntw;Wikj; njhifapYk; [e;jhk; 

Ntw;Wikj; njhif cUghd XL> xL Nghd;w 

tw;wpYk; ty;ypdk; kpfhJ. 

D) gj;J jtpu gpw vz;fSlDk;><Wnfl;l 

vjph;kiw nganur;rk; jtpu gpwnganur;rq;fspd; 

gpd;dk; ty;ypdk; kpfhJ. 

39. nghUj;Jf 

1. tpbnts;sp - - Fil 

2. fly; - - Njhod; 

3. miy - - gs;spf;$lk; 

4. Nkfk; - - tpsf;F 

A) 3 2 1 4  B) 4 3 2 1 

C)  1 3 4 2  D) 1 2 4 3 

40. jhAkhdthpd; kidtp ngaH 

A) kl;LthHFoyp  B) nfrty;yp 

C) fkyhk;gpif  D) nry;yk;khs; 

41. “gpuge;jk;” vd;gjd; nghUs; 
A) ed;F fl;lg;gl;lJ 

B) ed;F vOjg;gl;lJ 

C) ed;F gpd;dg;gl;lJ 

D) ed;F nrJf;fg;gl;lJ 

42. 17- rhpahd jkpo; vz;iz vOJf: 

A) fo   B) fU 

C) ff   D) fv 

43. ehybahH – E}ypd; MrphpaH 

A) ts;StH  

B) Re;juH 

C) tpsk;gp ehfdhH 



 

5  

 

D) rkz KdptH 

44. rhiyfspy; gynjhopy;fs; ngUf Ntz;Lk; 

rigfspNy jkpnyOe;J Koq;f Ntz;Lk; - 

vd;w ghly; thpfis ,aw;wpa ftpQH 

A) ftpkzp  B) ehkf;fy ftpQH 

C) ghujpahH  D) ghujpjhrd; 

45. goq;fhyg; gz;ghl;bd; vr;rk; vdf; 

fUjg;gLgit 

A) jpiu,irg; ghly;fs; 

B) GJf;ftpijfs; 

C) kuGrhHe;j ghly;fs; 

D) ehl;Lg; Gwg; ghly;fs; 

46. „fypg;gh‟ ----------------- Xiriaf; nfhz;lJ. 

A) nrg;gy;   B) mfty; 

C) J}q;fy;   D) Js;sy; 

47. ,d;Gw;whH va;Jk; rpwg;G – vd;w thp ,lk; ngw;w 
E}y; 

A) rpWgQ;r%yk;  B) jpUf;Fws; 

C) Vyhjp   D) ehybahH 

48. “gpuzt Nfrhp” vd md;NghL miof;fg;gl;l 

Njrpaj; jiytH 

A) Kj;Juhkypq;fH 

B) ,uh[h[p 

C) fhkuhrH 

D) tpNtfhde;jH 

49. capH tspg;glyj;ij rpijg;gjpy; ngUk;gq;F 

tfpg;gJ 

A) fhHgd; Nkhdhf;irL 

B) fhHgd; - il- ry;igL 

C) FNshNuh/GSNuh fhHgd; 

D) FNshNuh nll;uh fhHgd; 

50. trdeil ifte;j ty;yhsH vd MWKf 

ehtyiug; ghuhl;bath 

A) [p.A.Nghg; 

B) ghpjpkhw; fiyQH 

C) tPuhkhKdptH 

D) uh.gp.NrJg;gps;is 

51. nghUj;Jf: 

lhy;];lha; 1. tpRt ghujpapy; gzp 
Ghpe;j NguhrphpaH 

ngl;uz;l;u];]y; 2. fpNuf;f 
rpe;jidahsH 

fpUghspzp 3. ,u\;z ehl;L 
vOj;jhsH 

gpNsl;Nlh 4. rpe;jidahsH 
fy;tpahsH 

 a b c d  

A) 2 3 4 1 

B) 3 4 1 2  

C) 4 2 3 1 

D) 1 2 3 4  

52.  eLj;jpuhtpl nkhopfspy; xd;W 

A) nfhufh   B) Nfhah 

C) F&f;   D) khy;Njh 

53. Nfhbl;l ,lq;fis epug;Gf: 

nghpahH jk;tho; ehspy; ----------fpNyhkPl;lH 

njhiyT gazk; nra;J rKjhaj; 

njhz;lhw;wpdhH 

A) 8600   B) 21>400 

C) 10>700   D) 13>12>000 

54. jtwhdj; njhliuf; fz;lwpf: 

A) jkpofg; nghUs;fs; rPdhtpy; tpw;fg;gl;ld 

B) rPdj;Jg; gl;Lk; rUf;fiuAk; jkpofj;Jf;F 

,wf;Fkjp Mapd 

C) goe;jkpofj;jpd; thzpfg; nghUs;fs; gw;wpa 

Fwpg;Gfs; cs;s E}y; GwehD}W 

D) fUk;G rPdhtpypUe;J nfhz;L te;J 

gaphplg;gl;lJ. 
55. mfehD}W gw;wpa $w;Wfspy; rhpahdit? 

1. mfg;nghUs; E}y;fs; jkpopy; gy ,Ug;gpDk; 

“mfk;” vd;Nw ngaH mike;j goe;jkpo; 

,yf;fpa E}y; ,J kl;LNk MFk;. 

2. ,e;E}Yf;F eWe;njhif vDk; ngaUk; 

cz;L. 

3. ,e;E}y; %d;W gFjpfshf cs;sJ. 

4. Kjy; 120 ghl;Lf;fs; fspw;wpahid epiu 

vdTk;> mLj;j 180 ghly;fs; kzpkpilgtsk; 

vdTk; filrp 100 ghly;fs; epj;jpyf;Nfhit 

vdTk; toq;fg;ngWk;. 

A) 1 2 3 kl;Lk; rhp B) 1 3 4 kl;Lk; rhp 

C)  2 3 4 kl;Lk; rhp D)  1 2 3 4 rhp 

56. Rujh gw;wpa ghly;fspy; rhpahdit? 

1. jpj;jpf;Fk; jkpopNy Kj;J Kj;jha; ghly; 

nra;jhH – ghujpahh;. 

2. “tpidr; nrhw;fs; Ntw;Wikia- Vw;gjpy;iy 

ntWk; ghl;ilj; jkpo;r; rq;fk; NrHg;gjpy;iy” 

3. “,ul;ilf;fpstp Nghy; ,ize;Nj- thOq;fs;  

gphpj;jhy; nghUspy;iy”. 

4. “Nrhfk; juhjtd; mNrhfd;” 

A) 1 2 3 kl;Lk; rhp B) 1 3 4 kl;Lk; rhp 
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C)  2 3 4 kl;Lk; rhp D)  1 2 3 4 rhp 

57. fPo;f;fz;l $w;Wfspy; rhpahdit? 

A) Njk;ghtzpapd; fhg;gpaj; jiytdhd tsd; 

vDk; R+ir khKdptH jhtPJ kd;ddpd; mur 

kugpy; Njhd;wpa tuyhw;iwAiug;gJNt tsd; 

nrdpj;j glykhFk;. 

B) R+ir vd;gjw;F jkpo; nkhopapy; tsq;fis 

tsur; nra;gtd; vd;W nghUs; MFk;. 

C) tPukhKdptH gpuhd;]; ehl;ilr; NrHe;jtH. 

D) midj;Jk; rhp 

58. fPo;f;fz;lவற்மில் வ஭ீ஫ாமுனிவர் பற்மி஬ 

$w;Wfspy; rhpahdit? 

1. ,thpd; ,aw;ngaH fhd;];ld; N[hrg; ng];rp 

vd;gjhFk;. 

2. fhd;];ld; vDk; ,j;jhyp nkhopr; nrhy;Yf;F 

mQ;rhik vd;W nghUs;. 

3. gpd;dH jk;ngaiu jkpo;gLj;jp tPuijhpaehjd; 

vd khw;wjpf; nfhz;lhH. 

4. tPukhKdptH jkpof;j;pw;F te;j Mz;L 1710 

MFk;. 

A) 1 2 3 kl;Lk; rhp B) 1 2 4 kl;Lk; rhp 

C)  2 3 4 kl;Lk; rhp D)  1 2 3 4 rhp 

59. fPo;f;fz;l $w;Wfspy; rhpahdit? 

1. rpyg;gjpfhuk; Kj;jkpo;f; fhg;gpak; 

ciuaplg;gl;l ghl;Lilr; nra;As;> 

,ilf;fhg;gpak; vd gy;NtW rpwg;Gg; ngaHfshy; 

ghuhl;lg;gLfpwJ. 

2. jkpopd; Kjy; fhg;gpa E}y; rpyg;gjpfhuk; 

MFk;. 

3. rpyg;gjpfhuk; GfhHf;fhz;lk;> kJiuf;fhz;lk;> 

tQ;rpf;fhz;lk; vd %d;W fhz;lq;fis 

nfhz;Ls;sJ. 

4. kq;fy tho;j;Jg; ghly; Kjyhf 

tue;;jUfhijaPwhf Kg;gJ fhijfisAk; 

rpyg;gjpfhuk; nfhz;Ls;sJ. 

A) 1 2 3 kl;Lk; rhp B) 1 3 4 kl;Lk; rhp 

C)  2 3 4 kl;Lk; rhp D) 1 2 3 4 rhp 

60. nghUj;Jf: 

1. ,sq;Nfhtbfs; - kzpNkfiy 

2. jpUj;jf;fNjtH 
- rpyg;gjpfhuk; 

3. ehjFj;jdhH 
- rPtfrpe;jhkzp 

4. 

rPj;jiyr;rhj;jdhH 

- Fz;lyNfrp 

A) 3 1 2 4  B) 2 3 4 1 

C)  2 4 1 3   D)  2 1 3 4 

61. fPo;f;fz;l $w;Wfspy; rhpahdit? 

A) ul;rz;a ahj;jphpfj;jpd; 5gUtq;fs;> 47 

glyq;fs;> 3776 ghly;fisf; nfhz;Ls;sJ. 

B) uhtzfhtpak; 15 fhz;lq;fisAk;> 57 

glyq;fisAk;> 3100 tpUj;jq;fisAk; 

nfhz;Ls;sJ. 

C) VR fhtpak; 15 ghfq;fisAk;> 149 

mjpfhuq;fisAk;> 810 tpUj;jq;fisAk;> 2346 

mftybfSk; nfhz;lJ. 

D) midj;Jk; rhp 

62. nghUj;Jf: 

1. FwpQ;rp - Xuk;NghfpahH 

2. Ky;iy 
- mk;%tdhH 

3. kUjk; 
- fgpyH 

4. nea;jy; 
- NgadhH 

A) 3 4 1 2  B) 3 1 2 4 

C)  3 2 4 1  D)  3 1 4 2 

63. fPo;f;fz;l $w;Wfspy; rhpahdit? 

1. nghUis> KJnkhop vd miof;fg;gLk; E}y; 

ehybahh; MFk;. 

2. “jpizasT Nghjhr;rpWGy; ePH ePz;l 

gidasT fhl;Lk; gbj;jhy;” vDk; thpfis 

vOjpatH fgpyH MthH. 

3. “ts;StUk;jk; Fws; ghtbahy;   

   -itaj;jhH cs;Stnjy;yhk; 

mse;jhH XHe;J” vDk; thpfis ghbatH guzH 

MthH. 
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4. “cs;SNjh Ws;SNjh Ws;sk;   

   -cUf;FNk  

ts;StH tha; nkhop khz;G” vDk; thpfis 

ghbatH khq;Fb kUjdhH MthH. 

A) 1 2 3 kl;Lk; rhp B) 1 3 4 kl;Lk; rhp 

C)  2 3 4 kl;Lk; rhp D)  1 2 3 4 rhp 

64. fPo;f;fz;l $w;Wfspy; rhpahdit? 

1. jpUf;Fws; mwj;Jg;ghy;> nghUl;ghy;> 

fhkj;Jg;ghy; vDk; 3 gphpTfis nfhz;Ls;sJ. 

2. mwj;Jg;ghy; 28 mjpfhuq;fisAk; ghaputpay;> 

,y;ywtpay;>Jwtwtpay;> Copay; vDk; 4 

,ay;fisf; nfhz;Ls;sJ. 

3. nghUl;ghy; 70 mjpfhuq;fisAk; murpay;> 

mq;ftpay;> xopgpay; vd;Dk; 3 ,ay;fisAk; 

nfhz;L mike;Js;sJ. 

4. fhkj;Jg;ghy;> 25 mjpfhuq;fisAk; fstpay;> 

fw;gpay; vd;w ,uz;L ,ay;fis nfhz;Ls;sJ. 

A) 1 2 3 kl;Lk; rhp B) 1 3 4 kl;Lk; rhp 

C)  1 2 4 kl;Lk; rhp D)  1 2 3 4 rhp 

65. nghUj;Jf: (Iq;FWE}W) 

jpiz - MrphpaH 

1. kUjk;  - Xjyhe;ijahH 

2. nea;jy; - NgadhH 

3. FwpQ;rp - Xuk;NghfpahH 

4. ghiy - mk;%tdhH 

4. Ky;iy - fgpyH 

A) 3 4 5 1 2  B) 3 5 1 4 2 

,) 3 1 4 5 2  D) 3 2 1 5 4 

66. ghUj;Jf: 

1. ctikazp - jPapdhw; Rl;lg;Gz;    

cs;shWk; MwhNj 

ehtpdhy; Rl;l tL. 

2. Ntw;Wikazp - nfhf;nfhf; $k;Gk; 

gUtj;J kw;wjd; 

Fj;njhf;f fPHj;j 

,lj;J. 

3. gpwpJ nkhopjyzp - CUzp ePH 

epiwe;jw;Nw cyfthk; 

Nguwp thsd; jpU. 

4. njhopYtikazp - gPypnga; rhfhLk; 

mr;rpW mg;gz;lQ;  

rhy kpFj;Jg; ngapd;. 

A) 3 1 2 4  B) 3 1 4 2 

C)  1 3 4 2  D)  1 4 3 2 

67. fPo;f;fz;l $w;Wfspy; rhpahdit? 

1. rPtfrpe;jhkzp Ik;ngUq;fhg;gpaq;fSs; 

xd;whFk;. 

2. rpe;jhkzp vd;gjw;F xspFd;whj kzp vd;gJ 

nghUs;. 

3. Fd;Wjypy;yhj moF jkpo;eil 

ngw;wpUg;gjhYk; jkpo; khe;jH jk; neQ;rpy; 

itj;Jg; Nghw;WtjhYk; ,e;E}y; rpe;jhkzp 

vdj; jFjpngw;wJ. 

4. rPtfrpe;jhkzpapd; MrphpaH khzpf;fthrfH 

MthH. 

A) 1 2 3 kl;Lk; rhp B) 1 3 4 kl;Lk; rhp 

C)  2 3 4 kl;Lk; rhp D) 1 2 3 4 rhp 

68. fPo;f;fz;l $w;Wfspy; rhpahdit? 

1. fhsj;jpNtlDk;> fq;ifNtlDk; vDk; 

ciueil E}ypd; MrphpaH uh.gp.NrJg;gps;is 

MthH. 

2. fhsj;jp Ntld; vd miof;fg;gl;ltd; 

fz;zg;gd; Mthd;. 

3. fq;ifNtld; vd miof;fg;gl;ltd; Ffd; 

Mthd;. 

4. “Njth epd;foy; Nrtpf;f te;jdd;” vDk; 

thpfs; ,lk;ngw;Ws;s E}y; rpyg;gjpfhuk; MFk;. 

A) 1 2 3 kl;Lk; rhp B) 1 3 4 kl;Lk; rhp 

C)  2 3 4 kl;Lk; rhp D)  1 2 3 4 rhp 

69. “rz;gf ghz;bad;” vd;Dk; ngaH ngw;w 

ghz;ba kd;dd; 

A) tq;fpa Nrfu ghz;bad; 

B) $d; ghz;bad; 

C) R+lhkzp ghz;bad; 

D) nghw;if ghz;bad; 

70. NkTk; nkd;ik %f;F cuk;ngWk; td;ik. 

,j;njhlhpy; cuk; vd;gjd; nghUs; 

A) capH   B) fOj;J 

C) tha;   D) khHG 

71. jkpofj;jpd; „NtHl;]; nthHj;‟ vdg; Gfog;gLgtH 
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A) ghujpjhrd;  B) fk;gjhrd; 

C) G+q;Fd;wdhH  D) thzpjhrd; 

72. rk;Gtpd; fdp vdf; Fwpf;fg;gLtJ 

A) khk;gok;  B) ehty; gok; 

C) nfha;ahg;gok;  D) gyhg;gok; 

73. “re;jpud; RtHf;fp” vd;w ts;syhy; 

Mjhpf;fg;gl;l GytH 

A) GfNoe;jpg; GytH 

B) ckWg; GytH 

C) fhsNkfg; GytH 

D) mofpa nrhf;fehjg; GytH 

74. jpUf;Fwis Kjd; Kjypy; gjpg;gpj;J 

ntspapl;ltH ahH? 

A) c.Nt.rh 

B) ghthzH 

C) Qhdg;gpufhrd; 

D) Qhdf; $j;jd; 

75. “flk;” vd;w nrhy;ypd; nghUs; 
A) Kfk;   B) iffs; 

C) clk;G   D) ,Lg;G 

76. mfj;JWg;G vd;gJ 

A) gy; 

B) kdj;jpd; cWg;G md;G 

C) ,jak; 

D) tapW 

77. “jkpo; gpwnkhopj; Jizapd;wpj; jdpj;J 

,aq;FtJ kl;Lkpd;wp jioj;Njhq;fTk; nra;Ak;” 
– vd;W $wpa mwpQH 

A) NjtNeag; ghthzH 

B) ghujpjhrd; 

C) fhy;Lnty; 

D) [p.A.Nghg; 

78. jkpof murpd; ghpR ngw;w Kbaurdpd; fhtpak; 

vJ? 

A) rfyfyh ty;yp khiy 

B) G+q;nfhb 

C) kzpf;nfhb 

D) chpik Ntl;if 

79. “ew;fiy” vd;W miof;fg;gLk; fiy 

A) fl;llf;fiy  B) rpw;gf;fiy 

C) Xtpaf; fiy  D) moFf;fiy 

80. “fhy;Lnty;” jkpofj;jpy; tho;e;j ,lk; 
A) Gspaq;Fb  B) rpW$ly; gl;b 

C) khq;Fsk;  D) ,ilad;Fb 

81. nghUj;Jf: 

jpiz nghOJ 

a) FwpQ;rp 1. vw;ghL 

b) Ky;iy 2. ez;gfy; 

c) kUjk; 3. khiy 

d) nea;jy; 4. ahkk; 

e) ghiy 5. itfiw 

 a b c d e 

A) 4 3 5 1 2 

B) 2 1 4 5 3 

C) 5 4 1 2 3 

D) 3 1 2 4 5 

82. „vw;ghL‟ – vd;Dk; nrhy;ypy; „ghL‟ vd;gjd; 

nghUs; 

A) jahH nra;jy;  B) ghl;Lg; ghLjy; 

C) kiwAk; Neuk;  D) Jd;gg;gLjy; 

83. “tapuKila neQ;R NtZk;” vdf; $wpa 

ftpQH 

A) ghujpjhrd;  B) ftpkzp 

C) ghujpahH  D) mo.ts;spag;gH 

84. “Vq;nfhypePH Qhyj; jpUsfw;Wk;-Mq;ftw;Ws; 

kpd;NdH jdpahop ntq;fjpNuhd;NwidaJ” vd;w 
ghly; ,lk; ngWk; E}y; 

A) khwdyq;fhuk;  B) fhhpif 

C) jz;bayq;fhuk; D) ed;D}y; 

85. „Kaw;rp jpUtpidMf;Fk;‟ vdf; $wpatH 
A) ghujpahH  B) jpUts;StH 

C) xsitahH  D) jpU%yH 

86. jkpo; - gpnuQ;R ifafu Kjyp vDk; E}iy 

ntspapl;l ftpQH 

A) fz;zjhrd;  B) thzpjhrd; 

C) tz;zjhrd;  D) ghujpahH 

87. mwTiuf;Nfhit vDk; E}ypy; cs;s 

mjpfhuq;fspd; vz;zpf;if 

A) 1330   B) 30 

C) 10   D) 133 

88. ghk;gpidg; gw;wp Ml;lhNj – cd;wd; 

gj;jpdpkhHfisg; gopj;Jf; fhl;lhNj vdg; ghba 

rpj;jH 

A) NjiuaH  B) ghk;ghl;br; rpj;jH 

C) NghfH   D) fLntspr;rpj;jH 
89. jkae;jpapd; je;ij tPkd; ve;j ehl;ilr; 

Nrh;;e;jth;? 

A) tpjh;g;g ehL  B) eplj ehL 

C)  mte;jp ehL  D)  mq;fehL 

90. ve;j ,izajsk; jkpo; vOj;Jf;fis vOjTk; 

xypf;fTk; fw;Wj;jUfpwJ? 
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A) jkpok;   B) jkpo; 

C)  jkpo;ok;  D)  jkpopak; 

91. nghUj;Jf 

 1) mzpy;   - Fl;b 

 2) rpq;fk; - gps;is 

3) Gyp  - FUis 

4) vyp  - gwo; 

A) 2 3 4 1   B) 2 3 1 4 

C)  2 4 1 3  D)   4 1 3 2  

92. nghUj;Jf: 

1. ePH Kfpy; - 2k; Ntw;Wik 

cUGk;gaDk; cld; 

njhf;f njhif 

2. $th - <Wnfl;l vjpHkiw 

nganur;rk;. 

3. Njth - jhdpahFngaH 

4. foy; - tpsp 

A) 3 2 1 4  B)1 2 4 3 

C) 2 3 4 1  D) 4 1 2 3 

93. nghUj;Jf: 

1. jpiufq;if  - Kd;dpiy 

xUik 

tpidKw;W 

2. FWfp - jd;ik xUik 

tpidKw;W 

3. te;jndd; - tpidnar;rk; 

4. mioj;jp - 2k; Ntw;Wik 

cUGk;gaDk; 

cld; njhf;f 

njhif 

A) 4 3 2 1  B) 1 3 4 2 

C) 3 2 1 4  D) 2 4 1 3 

94. nghUj;Jf: 

1. cuNthH - njhopy;ngaH 

2. ey;nyhOf;fk; - tpidnar;rk; 

3. nrhyy; - 

tpidahyizAk; 

ngaH 

4. mwpe;J - gz;Gj;njhif 

A) 4 3 2 1  B) 2 4 1 3  

C) 3 4 1 2  D) 1 3 4 2 

95. fPo;f;fz;l $w;Wfspy; rhpahdit? 

1. xU nghJr;nrhy; Kd;gpd; NrHe;J tUk; 

nrhy;ypd; Fwpg;ghy; Mz;ghiyNah 

ngz;ghiyNah czHj;jp tUtJ xd;nwhop 

nghJr;nrhy; vdg;gLk;. 

2. xU nrhy;> jd;nghUisAk; Fwpj;Jj; jdf;F 

,dkhd nghUisAk;> Fwpj;J tUtJ 

,dq;Fwpj;jy; vdg;gLk;. 

3. mirepiyf;Fk; tpiuT> rpdk;> kfpo;r;rp> 

mr;rk;> Jd;gk; Kjypa nghUs; epiyf;Fk; 

nra;Aspy; ,iria epiwT nra;tjw;Fk; 

,uz;L> %d;W> ehd;FKiw mLf;fp tUtJ 

mLf;Fj;njhlH vdg;gLk;. 

4. ,ul;bj;J epd;W nghUs;jUk; gphpj;jhy; 

nghUs; jUk;. ,jw;F ,ul;ilf;fpstp 

vd;WngaH. 

A) 1 2 3 kl;Lk; rhp  B) 1 3 4 kl;Lk; rhp 

C) 2 3 4 kl;Lk; rhp D) 1 2 3 4 rhp 

96. nghUj;Jf: 

1.xd;nwhop 

nghJr;nrhy; 

- md;Nw md;Nw 

2. ,dq;Fwpj;jy; - fyfy 

3. mLf;Fj;njhlH - tPl;bd; Kd; 

ItH 

Nfhykpl;ldH 

4. ,ul;ilf;fpstp -ntw;wpiy 

rhg;gpl;lhs; 

A) 3 4 1 2  B) 3 4 2 1 

C) 4 3 2 1  D) 2 3 4 1 

97. nghUj;Jf: 

1. mhp - gidNahiyg;ngl;b 

2. nrW - new;fjpH 

3. ahzH - tay; 

4. tl;b - GJtUtha; 

A) 3 4 2 1  B) 2 3 4 1 

C) 4 3 2 1  D) 1 2 3 4 

98. nghUj;Jf: 
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1. nrd;w tl;b - nganur;rk; 

2. nra;tpid - tpidj;njhif 

3. Gd;fz; - gz;Gj;njhif 

4. Cu - tpspj;njhlH 

A) 1 3 4 2  B) 3 1 4 2 

C) 1 2 3 4  D) 4 3 2 1 

99. fPo;f;fz;l $w;Wfspy; rhpahdit? 

1. vl;Lj;njhif E}y;fSs; Kjyhtjhf itj;J 

vz;zg;gLtJk; “ey;” vd;w milnkhop 

nfhLj;Jg; Nghw;wg;gLtJk; ew;wpiz MFk;. 

2. XuwpT capHfisAk; tpUk;Gk; cahpa gz;G> 

tpUe;Njhk;gy;> mwtopapy; nghUsPlly; Kjypa 

jkpoHjk; caH gz;Gfisj; njs;sj;njspthf 

vLj;jpak;Gk; E}y; ew;wiz MFk;. 

3. ew;wpiz 9mbr; rpw;nwy;iyAk; 12 mb 

Ngnuy;iyAk; nfhz;lJ. 

4. ew;wpizia njhFg;gpj;jtH gd;dhL je;j 

khwd; tOjp. ew;wpizg; ghly;fisg; ghbatH 

255NgH MtH. 

A) 1 2 3 kl;Lk; rhp  B) 1 3 4 kl;Lk; rhp 

C) 2 3 4 kl;Lk; rhp D) 1 2 3 4 rhp 

100. nghUj;Jf: 

1. JfpH - gtsk; 

2. kd;dpa - khiy 

3. Nra - mzp 

4. fyk; - njhiyT 

5. njhil - epiyngw;w 

A) 3 1 2 4 5  B) 1 5 4 3 2 

C) 5 4 3 2 1  D) 1 4 2 5 3 
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Model Test 7 (General English) - TNPSC Group 2 (A)
1. Choose the correct compound word for 

“Adverb + participle” 

(A)cat walking  (B) eye catching 

(C)hand weaving  (D)incoming 

2. Choose the correct synonyms for the 

underlined word from the options given: 

Michael is bored with his daily Chores. 

(A)plans   (B) obstacles 

(C)lessons   (D)tasks 

3. In the world‟s broad field of battle, 

In the bivovac of Life, 

What is the meaning of the phrase “Bivovac of 
life”? 

(A)A grand palace in the world 

(B) A pitiable life in the world 

(C)A simple temporary life in the world 

(D)A permanent life in the world 

4. Choose the correct American English word for 

the underlined British English Word of the 

following sentence. 

I take Jam and butter with bread as breakfast. 

(A)Fruit mixture   (B) Jelly 

(C)Fruit Juice  (D)Fruit Paste 

5. Shakespeare‟s one among well known comedy 
is ______ 

(A)King Lear 

(B) A Mid Summer Night‟s Dream 

(C)Othello 

(D)Hamlet 

6. Choose the best option: 

Portia disguises herself as a _________. 

(A)Merchant  (B) Lawyer 

(C)Money lender  (D)Queen 

7. “Let the young minds blossom - full of 

thoughts, the thoughts of prosperity”. 
Whose words are these? 

(A)Mahatma Gandhi  

(B) Jawaharlal Nehru 

C)Ruskin Bond 

(D)Dr. A.P.J. Abdul Kalam 

8. Choose the correct answer for the question 

from the given paragraph : 

“Siluated in a remote corner of 
Kumaonbordering Tibet and Nepal, Munsiyari 

was once a bustling entrepotofTrade...” 

Where is Milam Glacier? 

(A)Nepal   (B) Munsiyari 

(C)Edge of Tibet  (D)Kumaon 

9. “O, no! it is an ever-fixed mark, 

That looks on tempests and is never shaken” 

These lines are from the poem 

(A)Shilpi 

(B) Is Life But a Dream 

(C)The Man He Killed  

(D)Sonnet No. 116 

10. Find out the correct answer: 

_____was once a bustling entrepot of trade. 

(A)Milam Village  (B) Bhutia Villages 

(C)Munsiyari  (D)Bilju 

11. Match the characters with the story title : 

A (Characters) B (Story Title) 

(A)Vera 

(B) Morissot 

(C)Masha 

(D)Johnsy 

1. Lottery Ticket 

2. The Last Leaf 

3. Two Friends 

4. Open Window 

 (a) (b) (c) (d) 

(A) 4 3 1 2 

(B) 3 4 1 2 

 

(C) 1 2 4 3 

(D) 2 1 3 4 

12. Whose biography is this? 

“BON VOYAGE” 

(A)A.P.J. Abdul Kalam  
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(B) KalpanaChawla 

(C)Sunitha Williams  

(D)Collins  

13. Find out the correct answer from which it is 

taken? 

“I am no Orator, as Brutus is” 

(A)Merchant of Venice   

(B) Farmer 

(C)Vision for the Nation   

(D)Julius Caesar 

14. Choose the correct antonym for the underlined 

word from the options given  

A man get laurels when he achieves 

something. 

(A)sufferings  (B) failures 

(C)efforts   (D)rewards 

15. „Wings of Fire‟ is an autobiography of 
(A)Helen Keller   

(B) Mahatma Gandhi 

(C)KalpanaChawla 

(D)Dr. A.P.J. Abdul Kalam 

16. In which poem the following line occur? 

„But birds tell it in the bowers‟ 
(A)Earth   

(B) Migrant Bird  

(C)The Apology 

(D)My Grandmother‟s house 

17. Planet X was a world of _________ 

(A)Telepathists and mind-readers 

(B) Spirits and demons 

(C)Supernatural beings 

(D)Wizards and witches 

18. The poet who did not win the Nobel Prize is 

(A)R.K. Narayan  

(B) Rudyard Kipling 

(C)Rabindranath Tagore  

(D)Pearl S. Buck 

19. Match the following and select the answer 

from the codes given below: 

S.No. A B 

1. A Chipko 

Movement 

- Charity 

2. Tamil Nadu 

Community 

Banking 

- Amirta 

Devi 

3. Anita - 

Khuswaha Chinnapillai 

4. Mother Teresa - Girl star 

(A)2341   (B) 3412 

(C)4123   (D)1234 

20. Which of the following is not written by an 

Indian Poet? 

(A)English words   

(B) The Apology 

(C)Punishment in Kindergarten 

(D)My Grandmother‟s house 

21. Match the names of the Works under Column 

A with their Authors under Column B and 

select the correct code. 

Column A  Column B 

(a) The Necklace  1. O. Henry 

(b) The selfish giant 2. Pearl S. Buck 

(c) The gift of the  3.Guyde 

Magi    Mauppasant 

(d) The  refugee  4. Oscar Wilde 

(a) (b) (c) (d) 

(A) 2 3 4 1 

(B) 1 4 3 2 

(C) 4 3 2 1 

(D)3 4 1 2 

22. Find out from which poem the following line 

is taken? 

 “Where tireless striving stretches its arms 

towards perfection”. 
(A)Prayer of a sportsman 

(B)Nine gold medals 

(C)Out in the fields with God  

(D)Where the mind is without fear 

23. Is Life But a Dream? ' 

Choose the correct answer from the options to 

fill in the blank: 

This poem is a/an ______of  the poet. 

(A)Dream   

(B) Trekking Experience 

(C)Expedition   

(D)Recollection 

24. Walt Whitman, a famous poet, started his 

career as an 

(A)Typist   (B) Office boy 

(C)Clerk   (D)Teacher 

25. William Shakespeare was educated at the 
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(A)Free Stratford Grammar School 

(B) Oxford University 

(C)London School 

(D)Cambridge University 

26. Find out the correct answer: 

“The Happy Prince” is a famous short story 
written by_______ 

(A)Oscar Wilde   

(B) Ruskin Bond 

(C)V.K. Gokak   

(D)AhtushiDeshpande 

27. Choose the correct answer : 

A nation‟s progress depends upon how its 
people think. It is thoughts which are 

transformed into action. 

A nations progress is directly depends on-. 

(A)Works of people 

(B) Thoughts of People 

(C)Works of politicians 

(D)Thoughts of politicians 

28. The theme portrayed in „The cry of the 
children‟ is 

(A) Socialism  (B) Patriotism 

(C) Communism  (D) Child Labour 

29. Identify the city where the following song was 

sung by the people. 

“We shall overcome” 

(A) New York  (B) Manhattan 

(C) German   (D)Tennessee 

30. “I look deeply into its visage, trying to each in 

my mind every detail of the vast expance of 

the valley and the forlorn abandoned village” 

In the given passage the word visage means. 

(A) vision   (B) face 

(C) view   (D)whole 

31. “But he‟s locked in a concrete cell, 
His strength behind bars” 

Mention the poem in which these lines occur. 

(A)Bat 

(B) Off to Outer space Tomorrow Morning 

(C)The Noiseless Patient Spider  

(D)The Tiger in the Zoo 

32. “Be glad your nose is on your face" 

The tone of this poem is 

(A)Humorous  (B) Melancholic 

(C)Serious   (D)Tragic 

33. “I may have been affected by Polio but 
education has helped me to realize my 

dreams” 

Who is the „dreamer‟ mentioned about? 

(A) Rajalakshmi  (B) F. Joanna 

(C) Sunitha Williams (D) SarlaThakral 

34. To which period Walt Whitman belong? 

(A)1819-1892  (B) 1825-1900 

(C) 1890-1975  (D) 1815- 1890 

35. Claustrophobia means the fear of 

(A)  Heights  (B) Water 

(C) Confined place (D) Isolation 

36.  “We‟re going to see rising tension over 
shared water Resources” 

These lines insist the slogan 

(A)Save Atomic Energy (B) Save Trees 

(C)Save Power  (D)Save water 

37. “Such as thy words are such will thine 
affections be esteemed”. 
Who said this? 

(A)Socrates  (B) Nelson Mandela 

(C)William Shakespeare  (D)Messiaen  

38. The sense of freedom to do anything anyway 

we wish without restrictions - is the central 

theme of the poem 

(A)Shilpi   (B) Beautiful Inside 

(C)Manliness  (D)Migrant Bird 

39. The poet who made a bridge between The 

Victorian Age and The modernist movement 

was  

(A)Walt Whitman  

(B) Thomas Hardy 

(C)Robert Frost   

(D)William Shakespeare 

40. Identify the personality who Uttered the 

following: 

“Man is born free but is everywhere in 
chains”. 
(A)Gopala Krishna Gokhale  

(B) Abdul Kalam 

(C)Jean Jacques Rousseau 

(D)Rabindranath Tagore 

41. What is the theme observed in The Piano 

Lesson‟. 
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(A)Time and tide waits for none 

(B) Cleanliness is next to Godliness 

(C)Look before you Leap  

(D)Practice makes one Perfect 

42. Who said these words? 

Ettu Brute? 

(A)Brutus   (B) Caesar 

(C)Antony   (D)Cassius 

43. Match the poem in Column A with their poets 

in Column B 

Column A (Poem) Column B (Poem) 

(A)Snake 

(B) Flying Wonder 

(C)English Words 

(D)The Apology 

 

1.Ralph Waldo 

Emerson 

2. V.K. Gokak 

3. Stephen Vincent 

Benet 

4. D.H. Lawrance 

 (a) (b) (c) (d) 

(A) 1 4 3 2 

(B) 2 1 4 3 

(C) 3 2 1 4 

(D) 4 3 2 1 

44. What underlying idea do you find in this 

poem? 

“MIGRANT BIRD” 

(A)A note of determination to achieve 

(B)A sense of freedom to do anything anyway 

we wish without restrictions 

(C)Never give up in temptation 

(D)Admiration of nature 

45. The lesson „To the Land of Snow‟ written by 
Athushi Deshpandae is a  

(A) Prologue  (B) Epilogue 

(C)Travelogue  (D) Monologue 

46. Which Nationality does the short story writer 

„Guy de Maupassant‟ belong to? 

(A) Europe   (B) America 

(C)France   (D) India 

47. In which year did Subash Chandra Bose form 

the Indian National Army in Singapore?  

(A) 1939   (B) 1943 

(C)1941   (D) 1938 

48. What was the element used in the very cruel 

bomb dropped on Hiroshima? 

(A) Uranium - U
234  

(B) Uranium - U
238

 

(C) Uranium - U
236 

 

(D)Uranium - U
236

 

49. In which year did the writer Thakazhi 

Sivasankara Pillai receive the Bharatiya 

Janapith Award? 

(A)  1975   (B) 1980 

(C) 1984   (D) 1957 

50. Who wrote the poem „Shilpi‟? 

(A) Kamala Markendeya 

(B) Sarojini Naidu  

(C)Ashwin Parthiban 

(D) Krish Karmad 

51. Mention the work of Pearl S. Buck 

(A)A tiger in the zoo (B) My native land  

(C)The good earth (D)To cook and eat 

52. “Successful people are those who manage 
their time efficiently”. 
What is our most valuable resource? 

(A)Talents   (B) Treasure  

(C)Time   (D)Truth 

53. Choose the correct option. 

All memories of the bizarre journey vanish 

when I landed in 

(A)Ragesh Kund  (B) Milam village 

(C)Suraj Kund  (D)Munsiyari 

54. The possibility of winning the prize in the 

lottery ticket  

(A)Thrilled them   

(B)Bewildered them 

(C)Motivated them 

(D)Encouraged them 

55. Match the character in Column A with 

relevant title in Column B 

A    B 

(a) Little boy, children       1. The last leaf 

(b) Ivan Dmitrictch, Masha  2. Two friends 

(c) Monseiur Morissot,          3. The  Selfish 

          Monseiur                       Sauvage  

(d)Sue, Johnsy,                    4.The Lottery 

         Behrman, Doctor              Ticket 

 

     (a)  (b) (c) (d) 

(A)  3 1 2 4 

(B)  2 3 4 1 
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(C) 3 4 2 1 

(D) 4 3 1 2 

56. Where did the renowned children‟s writer 
„Ruskin Bond‟ spend most of his life time? 

(A) Nainital hill station of Mussoorie 

(B) Gun hill station of Mussoorie  

(C)Garhwali hill station of Mussoorie 

(D)Cloud end hill station of Mussoorie 

57. “For oh, “Say the children, we are weary And 
we cannot run or leap”. 
Who are weary? 

(A) Children  (B) Village people 

(C) The old lady  (D)The poet 

58. Who said these following lines in the drama 

Julius caesar? 

“There is tears for his love; Joy for his 
fortune;honour for his valour; and death for 

his ambition 

(A) Brutus   (B) Cassius 

(C) Casca   (D) Antony 

59. Which nationality does the poet D.H. 

Lawrence belong to? 

(A) India   (B) Germany 

(C)Britain   (D) Canada 

60. Match the Characters with the relevant story 

title and select the correct codes given 

Column A    

 Column B 

(a) Phatik Chakrabarti  1.Reflowering 

(b) Rowther   2.The last leaf 

(c) Della    3.Holiday 

(d) Mr. Behrman   4.The gift of Magi 

(a) (B) (c) (d) 

(A) 4 2 3 1 

(B) 1 3 4 2 

(C) 3 1 2 4 

(D)3 1 4 2 

61. Find out who said this? 

“Often I have been asked if as a child I had 
ever dreamt of going into space”. 
(A)Kalpana Chawla  

(B)Sunitha Williams 

(C) Neil Armstrong  

(D)Rakesh Sharma 

62. Identify the pattern of the sentence. 

„Ravi often gets tired‟ 
(A) S V DO  IO 

(B) S V AC A 

(C) S A V A  

(D)S  A  V  C 

63. Choose the correct question tag. 

Everyone is present in the meeting 

(A) aren‟t they?  (B) are they? 

(C) isn‟t it?  (D) is it? 

64. Identify the correct Degree. 

Prabu is one of the most helpful persons  

(A) Positive     

(B) Superlative 

(C) Comparative    

(D) None of the above 

65. Change the following simple sentence into 

compound sentence. The ceiling is too high 

for me to touch 

(A) The ceiling is so high yet he cannot touch 

it 

(B) The ceiling is very high so she cannot 

touch it  

(C)The ceiling is so high and so we cannot 

touch it 

(D) The ceiling is very high and I cannot touch 

it 

66. Who wrote „I Dare - It‟s Always possible‟?  
(A) R.K. Narayan   

(B) Kushwant Singh 

(C) Athushi Deshpande  

(D)Kiran Bedi 

67. One who foretells the future is known as 

(A) Psychologist  (B)Philanthropist 

(C)Astrologer  (D)Mind reader 

68. Choose the correct synonym for the 

underlined word from the options given. 

I am deeply concerned about the way....... 

(A)wounded  (B) interested 

(C) worried  (D)affected 

69. Choose the correct antonym for the underlined 

word in the following sentence. 

A village was affected by drought 

(A) summer  (B) winter 

(C)floods   (D) famine 



 

6  

 

70. Match the following words and phrases given 

in Column A with their meanings in Column 

B 

A     B  

Phrases    Meaning 

(a) put on   1. demolish 

(b) take up   2. leave 

(c)pulldown  3. study 

(d) check out  4. wear 

(a) (B) (c) (d) 

(A)3 1 4 2 

(B) 4 3 1 2 

(C)4 2 1 3 

(D)3 1 2 4 

71. Choose the correct synonym for the 

underlined word from the options given. 

She made herself indispensable to her 

institution  

(A)essential  (B) vital 

(C) meagre   (D)negligible 

72. Find out the correct question tag from the 

options. 

They came by train _______? 

(A) isn‟tit?   (B) didn‟t they? 

(C) are they?  (D) do they? 

73. Write the correct tense. 

They ______in the school since 2012. 

(A) are serving   

(B)will serve 

(C) will be serving   

(D)have been serving 

74. Fill in the blank with the options. 

He refused ______'no‟ for an answer. 

(A) taking   (B) take 

(C) took   (D) to take 

75. Identify the sentence which is not of the same 

pattern as the others. 

(A) Solomon was wise 

(B) She was excited 

(C) He became the president  

(D)He wore his new uniform 

76. Choose the correct synonym. 

We believe that as a nation and as a people we 

need to shed our cynicism and initiate concrete 

action to realise the second vision 

(A)  stop   (B) begin 

(C)  instruct  (D) install 

77. Match the words in Column A with relevant 

meanings in Column B 

Column A   Column B 

(a) Stooping 1.Expressing pain or regret 

(b) Drooping 2.Bending forward 

(c) Droning 3.Closing due to tiredness 

(d) Moaning 4.Making a continuous low 

sound 

(a) (b) (c) (d) 

(A) 2 4 3 1 

(B) 2 1 3 4 

(C) 1 3 4 2 

(D)2 3 4 1 

78. What is a Sonnet? 

(A)A Lyric  (B) An Elegy 

(C) AnOde   (D) A Ballad 

79. Which nationality the story belongs to? 

“How the Camel got its Hump”? 

(A)America  (B) British 

(C) Australia  (D) South Arabia 

80. „And sings a melancholy strain‟, - The 

Solitary Reaper The figure of speech used here 

is _____ 

(A)Apostrophe  (B) Metaphor 

(C) Anaphora  (D)Oxymoron 

81. Mr. Pneumonia figures in 

(A)The lottery ticket (B) The Last Leaf 

(C) Kaanchanai  (D) Holiday 

82. Match the British English words in Col. A 

with equivalent American English in Col. B. 

 A    B 

(a) Dust bin  1.Frieght train 

(b) Jam   2.French fries 

(c) Goods train  3.Jelly 

(d) Chips   4.Garbage can 

 (a) (b) (c) (d)  

(A) 1 4 3 2  

(B) 2 3 4 1  

(C)4 3 1 2  

(D) 3 2 1 4  

83. Which of the following sentences is in passive 

voice  

(A) He learns many languages  
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(B) A car was bought by him 

(C) I consume fruits regularly 

(D) She writes a letter 

84. You bleached our souls with impurities You 

bathed our hearts 

The above lines are taken from the poem 

(A) A noiseless patient spider  

(B) A psalm of life 

(C)English words     

(D) Snake 

85. The author of the story “Reflowering” is 

(A) Rabindranath Tagore 

(B) R.K. Narayan 

(C) Oscar Wilde  

(D)Sundara Ramasamy 

86. To which nationality the story belongs — The 

Refugee  

(A) India   (B) Russia 

(C) China   (D) England 

87. Find out the work of Annie Louisa Walker 

from the following 

(A) Ballads     

(B) Voices of the night  

(C)Leaves from the Backwoods 

(D) Hiawatha 

88. Which one of the following is written by 

Thakazhi Sivasankara Pillai?  

(A)The mark of Vishnu   

(B) The Necklace 

(C)The Farmer     

(D) The Road to Success 

89. Identify the speaker from the given important 

lines. 

“After you big guys came, can we drain out 
the water at the right times”?  
(A) Kuttichovan  (B)Outhakutty 

(C) Kutty mappila  (D)Kesavan Nair 

90. Identify the character Jessica from the 

following options. 

(A) Julius Caesar  

(B) The Merchant of Venice 

(C) Solitary Reaper    

(D) The Open Window 

91. Shakespeare's Sonnet No 116 deals with 

(A) War   (B) Love 

(C) Patriotism  (D)Time 

92. In whose poem the following lines occur. 

“Each laid on other a staying hand 

To listen ere we dared to look” 

(A)Robert Frost  

(B) Rudyard Kipling 

(C)Paul Holmes  

(D)D.H. Lawerence 

93. Match the titles of the poem given in Column 

A with the lines of the poem given in Column 

B  

Column A Column B 

(A)Manliness 

 

(B)Going for water 

(C)The cry of 

the children 

(D)Migrant Bird 

1. With speed of wings 

I hasten 

2. And sometimes we 

could pray 

3. But once within the 

wood we paused 

4. If you can fill the 

unforgiving 

minute 

 (a) (b) (c) (d) 

(A) 4 3 2 1 

(B) 1 3 2 4 

(C) 2 1 4 3 

(D) 3 2 4 1 

94. „Girl Star‟ is a 

(A) Community Banking movement 

(B) National Mission on monuments and 

antiquities  

(C)UNICEF project 

(D)Save the child project 

95. Fill in the blank with the correct option 

Gandhi married in _______. 

(A)1800   (B) 1882 

(C)1889   (D)1887 

96. Replace the underlined British word with its 

American Equalent I went to the depot 

(A)Bus stop  (B) Terminus 

(C)Terminal  (D)Department 

97. Which of the following is not a Poem? 

(A)Snake   

(B) Laugh and Be merry 

(C) Bat   

(D)The marvellous machine 
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98. Match the characters in Column A with the 

story titles in Column B 

Column A Column B 

(A)Johnsy 

(B) Masha 

(C)Morrissot 

(D)Mrs.Sappleton 

1. The Lottery Ticket 

2. Two Friends 

3. Open window 

4. The Last Leaf 

 (a) (b) (c) (d) 

(A) 4 1 2 3 

(B) 1 3 2 4 

(C) 3 2 1 4 

(D) 2 1 4 3 

99. Match the short stories with the authors 

(A)The Tears of the 

Desert 

(B) The Ant Eater 

and the Dassie 

(C)Swept away 

(D)Aman who had 

no eyes  

1.Susannah Hickling 

 

2. Paulo Coelho 

 

3. Mackinlay Kantor 

4.Lakshmi Mukundan 

 (a) (b) (c) (d) 

(A) 2 4 1 3 

(B) 1 3 4 2 

(C) 4 1 3 2 

(D) 2 1 3 4 

100. Match the names of the poets under 

Column A with Column B and choose the 

correct code 

Column A Column B 

(A)William Words 

Worth 

(B) Khalil Gibran 

 

(C)Lewis Carol 

(D)D. H. Lawrence 

1. The Earth 

 

2. Is Life but a 

Dream? 

3. Snake 

4. The Solitary 

Reaper 

 (a) (b) (c) (d) 

(A) 4 1 2 3 

(B) 2 4 3 1 

(C) 1 3 4 2 

(D) 3 2 1 4 
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Model Test 7 (General Studies) - TNPSC Group 2 (A)
1. 44tJ rl;ljpUj;jk; eilKiwf;F te;j 

Mz;L 

(A) 1976   (B) 1947 

(C) 1950 ;  (D)1978 

2. ,e;jpahtpy; Kjd;Kjypy; kf;fs; njhif 

fzf;nfLg;G ele;j Mz;L 

(A) 1870   (B) 1872 

(C) 1874   (D)1881 

3. fPo;f;fz;l $w;WfSs; jtwhdJ vJ? 

(A) Rje;jpu ,e;jpahtpd; Kjy; jiyik 

MSeH nkz;l; Ngl;ld;. 

(B) ghfp];jhd; Kjy; jiyik MSeH 

KfkJ myp [pd;dh 

(C) 1947 Mf];l; 15-Mk; ehs; ,e;jpah 

Rje;jpuk; mile;jJ. 

(D) 1947 Mf]l; 16-Mk; ehs; ghfp];jhd; 

Rje;jpuk; mile;jJ. 

4. “njhopyf miktpl Nfhl;ghL” 
(A) ntgH Nfhl;ghL 

(B) fpwp];lhyH Nfhl;ghL 

(C) thd;J}dd; Nfhl;ghL 

(D)khy;j]; Nfhl;ghL 

5. u[;dP~;> Fkhh; ,UtUk; 2 l[d; 

kpl;lha;fis  25% , 75% vd;wthW gphpj;Jf; 
nfhs;fpd;wdh;.  Fkhh; ngWk; kpl;lha;fspd; 

vz;zpf;if fhz;f? 

A) 16   B) 17 

C) 18   D)19 

6. Nrhah mtiu vz;izia xw;iwg; gbapy; 

fpuh/gPd; glyq;fshf cUkhw;wk; nra;Ak; 

njhopw;El;gk; ,t;thW ngahplg;gLs;sJ. 

(A) fpuh/g;Nrha; njhopy;El;gk; 

(B) fpuh/g;VH njhopy;El;gk; 

(C) gPd;fpuh/g; njhopw;El;gk;; 

(D)el;fpuh/g; njhopw;El;gk; 

7. “Njh Mg;” vdg;gLtJ 

(A) ,U efuq;fSf;F ,ilg;gl;l gFjp 

(B) ,U ejpfSf;F ,ilg;gl;l gFjp 

(C) ,U kiyfSf;F ,ilg;gl;l epyg;gFjp 

(D),tw;Ws; vJTkpy;iy 

8. nly;yp Ry;jhdpaj;ij Ml;rp nra;j Ie;J 

tk;rq;fis thpirg;gLj;Jf. 

(A) mbik> fpy;[p> Jf;sf;> iraJ> Nyhb 

(B) fpy;[p> mbik> Jf;sf;> Nyhb> iraJ 

(C) Nyhb> iraJ> Jf;sf;> fpy;[p> mbik 

(D)mbik> Nyhb> iraJ> fpy;[p> Jf;sf; 

9. gj;jhk; Ie;jhz;L jpl;lj;jpy; rpW njhopy; 

epWtdq;fspd; epjp msT vd;d? 

(A) 75 yl;rk;;  (B) 100 yl;rk; 

(C) 50 Nfhb  (D)75 Nfhb 

10. 1857-Mk; Mz;L fyfj;Jf;F cldbf; 

fhuzk; 

(A) Gjpa tif jiyg;ghif 

(B) nfhOg;G jltpa Njhl;lhf;fs; 

(C) thhpR ,og;Gf; nfhs;if 

(D),ul;ilg;gb uj;J nra;jy; 

11. ehl;L nkhop nra;jpj;jhs; rl;lj;ij uj;J 

nra;J ,e;jpa kf;fspilNa ngUk; Gfo; 

ngw;wtH 

(A) fHrd; gpuG  (B) hpg;gd; gpuG 

(C) ypl;ld; gpuG  (D)NkNah gpuG 

12. X-mr;rpd; kPjike;j ve;jnthU Gs;spf;Fk; 

mjd; 

(A) fpilkl;l Maf;$W g+[;ak; 

(B) Fj;jhaf; $W g+[;ak; 

(C)fpilkl;l kw;Wk; Fj;jhaf; $Wfs; 

g+[;ak; 

(D)fpilkl;l kw;Wk; Fj;jhaf; $Wfs; 

g+[;ak; my;y 
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13. cr;rePjpkd;wj;jpy; jiyik ePjpgjp cl;gl 

vj;jid ePjpgjpfs; cs;sdH? 

(A) 26   (B) 22 

(C) 25   (D)21 

14. rhpahd $w;iw Rl;b fhl;lTk; 

(A) Gtpapd; ruhrhp ntg;gj;ij tpl 20-Mk; 

E}w;whz;by; 0.6°C caHe;Js;sJ.  

(B) Gtpapd; ruhrhp ntg;gj;ij tpl 20-Mk; 

E}w;whz;by; 0.7°C caHe;Js;sJ.  

(C) Gtpapd; ruhrhp ntg;gj;ij tpl 20-Mk; 

E}w;whz;by; 0.8°C caHe;Js;sJ.  

(D) Gtpapd; ruhrhp ntg;gj;ij tpl 20-Mk; 

E}w;whz;by; 1°C caHe;Js;sJ. 

15. 10>000 Xk;> 1>000 Xk;> 100 Xk; kw;Wk; 10 Xk; 
nfhz;l ehd;F kpd;jilfs; gf;f 
,izg;gpy; ,izf;fg;gl;Ls;sd  vdpy; 
mtw;wpd; njhFgad; kpd; jil vd;d?  

A) 10,000 Xk; tpl mjpfk;  

B) 10,000 Xk; 

C) 10 Xk;    

D)10 Xk; tpl FiwT 

16. ePhpd; jd; ntg;g Vw;Gj;jpwd; ghjurj;jpd; jd; 
ntg;g Vw;Gj;jpwid tpl vj;jid klq;F 

mjpfk;? 

A) 20   B) 40 

C) 30   D)50 

17. cyfj;jpNyNa kpf typikAs;s mkpyk; 

vJ? 

A) fe;jf mkpyk;   

B) i`l;Nuhf; FNshhpf; mkpyk; 

C) iel;hpf; mkpyk;   

D)GNshNuh fe;jf mkpyk; 

18. thAf;fis khRgLj;Jk; xspNtjpg; Gif> 

PAN vd;gJ 

A) ghuh mrpl;ily; iel;Nul;  

B) nguhf;rp mrpl;ily; iel;Nul; 

C) nguhf;rp mrpl;ily; iel;iul; 

D)ghuh mrpl;ily; iel;iul; 
19. Nfh];kh]; 2510 vd;w nraw;iff;Nfhis 

tbtikj;J tpz;zpy; Vtpa ehL 

A) mnkhpf;fh  B) gpuhd;]; 

C) u~;a   D)[g;ghd; 

20. fPo;fz;ltw;Ws; [pk;Ndh];ngh;kpy; ,Ue;J 

ngwg;gLk; My;fyha;L vJ? 

A) vgpl;hpd;  B) jPd; 

C) epf;Nfhbd;  D)nurpd; 

21. Njhy; Gw;WNeha; vt;thW miof;fg;gLfpwJ? 

A) M];bNahkh  B) nkyNdhkh 

C) ypk;/Nghkh  D)Yf;Nfkpah 

22. Njrpa Foe;ij njhopyhsh; nfhs;if 

,aw;wg;gl;l Mz;L vJ? 

A) 1980   B) 1987 

C) 1985   D)1982 

23. ehl;L tUkhdj;ij fzf;fpLk; topKiwfs; 

A) 2 Kiwfs;  B) 3 Kiwfs; 

C) 4 Kiwfs;  D)5 Kiwfs; 

24. kj;jpa murhy; 2017 Mk; Mz;bw;Fs; 
eilKiwf;F ghpe;Jiuf;fg;gl;l Gjpa 
thpKiwapd; ngah; vd;d? 

A) VAT   B) MAT 

C) GST   D)ST 

25. gl;bay; I ia gl;bay; II cld; nghUj;jp 

rhpahd tpilia Njh;T nra;f: 

t.vz; gl;bay; I gl;bay; II 
1. NkhdhNyhth - Mg;gphpf;fh 
2. nt#tpa]; - ,e;jpah 
3. kTz;l;fpspkQ;rhNuh - `tha; 
4. ehh;fz;lk; - ,j;jhyp 

A) 2341   B) 3412 

C) 4132   D)4123 

26. gl;bay; I I gl;bay; II cld; nghUj;jp> 

fPNo nfhLf;fg;gl;Ls;s FwpaPl;Lfisf; 

nfhz;L rhpahd tpiliaj; Njh;e;njL: 

gl;bay; I gl;bay; 
II 

A) Nkf;dirl; 1. Pbs 
B) fyPdh 2. Fe3O4 
C),Uk;G igiul;]; 3.MgCO3 
D)Nkf;dill; 4. FeS2 

 a b c d 
A 3 2 4 1 

B 1 3 2 4 

C 3 1 4 2 

D 4 2 1 3 
27. fPo;f;fz;l g+r;rp nfhy;ypfspy;> vJ kpff; 

Fiwe;j fhyk; Rw;Wr; #oypy; jq;fp 

,Uf;Fk;/ 
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A) BHC   B) DDT 

C) nrtpd;   D)ighpjpuha;Lfs; 

28. nry;ypd; “Mw;wy; ehzak;” vd 

miof;fg;gLtJ vJ? 

A) FAD   B) NAD 

C) NADP   D)ATP 

29. gphpT I - ypUe;J gphpT II – I nghUj;jp> 

fPo;f;fz;l FwpaPl;bypUe;J rhpahd tpilia 

Njh;e;njLf;f 

gphpT I ghpT II 
A) ,iyg; gw;Wf; fk;gp 1. rg;ghj;jpf; 

fs;sp 
B) ,iy Kl;fs; 2. FLitj; 

jhtuk; 
C) ,iy gug;G 3. 

a+l;hpFNyhpa
h 

D)ig 4. gl;lhzp 
 a b c d 

A 4 1 2 3 

B 1 3 2 4 

C 2 4 3 1 

D 3 2 1 4 

30. ,uhZtf; $l thhpaq;fs; ………. My; 

eph;tfpf;fg;gLfpd;wd. 

A) khepy murhq;fk; 

B) a+dpad; gpuNjrq;fs; 

C) kj;jpa murhq;fk; 

D)jy Ra murhq;fk; 

31. gpd;tUtdtw;iw nghUj;Jf 

Mrphpah; E}y; 
A) gpNsl;Nlh 1. 

FbauR 
gw;wpa 
MW 
E}y;fs; 

B) &Nrh 2. 
,stur
d; 

C)epNfhNyh khf;fpa 
nty;yp 

3. 
FbauR 

D)[Pd; Nghbd; 4. r%f 
xg;ge;j
k; 

 a b c d 
A 1 2 3 4 

B 2 4 1 3 

C 3 4 2 1 

D 3 2 1 4 
32. MSikapd; tifghl;il gw;wp $wpath; 

ahh;? 

A) fhh;y; khh;f;]; B) khf;]; tPgh; 

C) [Pd; Nghbd;  D)Mlk; ];kpj; 

33. fPo;f;fhZk; er;Rg; nghUl;fspy;> vJ 

gpsh];Nkhbaj;jpd; tho;f;ifr; Row;rpapd; 

NghJ ntspg;gl;L> kNyhpah Nehia gutr; 

nra;fpwJ? 

A) `PNkhNrhapd; 

B) mlh; i`l;u[d; nguhf;i]L 

C) nkj;jpy; INrh raNdl; 

D)gh];/[Pd; 

34. fPo;f;fhz;gtw;wpy; mjpf msT ePh;j;jd;ik 

nfhz;l fha;fwp vJ? 

A) Nful; 

B) nts;shp 

C) gr;irg; gl;lhzp 

D)jf;fhsp 

35. சர்லதேச ஫க஻ழ்ச்ச஻ ே஻னம் (International Day Of  

Happiness)      

A)  ஫஺ர்ச் 10    B) ஫஺ர்ச் 20  

C)  ஫஺ர்ச் 19   D)  ஫஺ர்ச் 18                    

36. xU njhopyhsp &. 11>250 Cf;fj; 
njhifahfg; ngWfpd;whh;.  ,j;njhif mth; 

jk; Mz;L tUkhdj;jpy; 15% vdpy; mthpd; 
khj tUkhdk; 

A) &. 6,220  B) &. 5,620 

C) &. 6,520  D)&. 6,250 

37. gk;ghapy; jd;dhl;rp fofj;ij 

Njhw;Wtpj;jth; 

A) NeU    

B) jpUkjp md;dp ngrz;l; 

C) jpyfh; 

D)ghujpahh; 

38. “fzgjp” kw;Wk; “rpth[p” gz;biffs; 

%yk; Njrpa czh;it J}z;bath; 

A) Nfhghy fpU\;z NfhfNy 

B) RNue;jpuehj; ghdh;[p 

C) ghyfq;fhju jpyfh; 

D)vk;.[p. uhdNl 

39. „Rfhjhug; nghJTilik‟ vdgJ cly; 

eyk; kPjhd nryT 
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A) Mal;fhyj;ijg; nghWj;jpUj;jy; 

B) kf;fspd; Njitf;Nfw;g mspf;fg;gl;l 

Ntz;Lk; / kf;fs; nrYj;J epiyf;F 

jFe;jhh; Nghy; my;yhky; 

C) Foe;ijfSf;F kl;Lk; mspf;fg;gLjy; 

D)tajhdth;fSf;F kl;Lk; mspf;fg;gLjy; 

40. ,e;jpa murpayikg;gpd; ve;j tpjp 

Kfg;Giuapy; khw;wk; nra;Js;sJ? 

A) 42tJ jpUj;jk; B) 61tJ jpUj;jk; 

C) 72tJ jpUj;jk; D)74tJ jpUj;jk; 

41. 102 tJ ,e;jpa mwptpay; khehL vq;F 

eilngw;wJ? 

A) Kk;ig  B) GJ nly;yp 

C) mfkjhghj;  D)ngq;fSU 

42. -7/9 d; jiy fPop 

A) 9/7   B) -9/7 

C) 7/9   D)2/9 

43. ,e;jpahtpy; Mq;fpNyah; vt;tplj;jpy; 

jq;fsJ th;j;jf rhiyia epWtpdh; 

A) gk;gha;   B) nrd;id 

C) `Pf;sp   D)#uj; 

44. fjf;fsp eldk; ,e;j khepyj;jpy; rpwg;G 

ngw;wJ 

A) jkpo;ehL  B) fh;ehlfh 

C) Me;jpu gpuNjrk; D)Nfush 

45. ,uz;lhtJ rkz rkaf; $l;lk; eilngw;w 

,lk; 

A) ghlypGj;jpuh;  B) uh[fphpfh 

C) ty;ygp   D)itrhyp 
46. $Fy; epWtdj;jhy;> ,e;jpahtpy; fpuhkg;Gw 

kw;Wk; njhiyT gFjpfSf;F ,izajs 
Nritapid toq;f mikf;fg;gl;Ls;s 
nray;jpl;lj;jpd; ngah; nray;jpl;l $Fy; 

A) fpsh];  B) /iggh; 

C) gpsf;];  D)Yhd; 
47. ekJ ehl;il khw;wpaikf;Fk; kpd;dZtpay; 

kw;Wk; jfty; njhopy; El;gtpay;Jiw 
fzpdp ,e;jpahtpy; ve;j Mz;bw;Fs; 
nray;gLj;jgl cs;s? 

A) 2023   B) 2020 

C) 2018   D)2017 
48. Rfk;ah ghuj; mgpahd; vd;gjd; Nehf;fkhf 

mikahjJ vJ? 

A) khw;Wj; jpwdhspfs; mZfj;jf;f 
tifapyhd muR fl;llq;fis fl;Ljy;. 

B) nghJ Nghf;Ftuj;J> jfty; kw;Wk; 
njhlh;G Mfpatw;wpd; mZFKiw kw;Wk; 
gad;ghl;L jd;ikia Nkk;gLj;Jjy;. 

C) ehl;by; ,aw;gpa Rw;Wr;Roypd; 
mZFKiw $Ljyhf;Fjy;. 

D)khw;Wj; jpwdhspfspd; mZFjYf;F 
xt;thj fl;blq;fSf;F mguhjk; tpjpj;jy;. 

49. cyfpd; kpf „,yFthd nghUs;‟ „rpypf;fh 
Vnuhn[y;‟ my;yJ „Cjh fhw;W‟ vq;F 
cw;gj;jp nra;ag;gLfpwJ? 

A) tpf;uk; rhuhgha; tpz;ntsp ikak; 
(tp.v];.v];.rp) jpUtde;jGuk;. 

B) I.v];.Mh;.X. ngq;fSU 

C) vd;.Mh;.v];.rp. Ijuhghj; 

D)v];.V.rp. mfkjhghj; 

50. “irgh; ghh;f;” ve;j khepyj;jpy; cs;sJ? 

A) Me;jpugpuNjrk; B) Nfush 

C) uh[];jhd;  D)kj;jpa gpuNjrk; 

51. 2017 ல் லறங்கப்பட்ட க஻஭஺஫஻ லிருது 

஋த்ேனன஬஺லது க஻஭஺஫஻ லிருது                    

A)50                B) 57                  

C) 59               D) 60                      
52. G+uz Rop ntg;gk; vd;gJ 

A) 0˚nrd;bfpNuL  B) 0˚/ghud;`Pl; 

C) -273˚nrd;bfpNuL D)-273˚/ghud;`Pl; 
53. fhyq;fspd; tpjp vd miof;fg;gLk; tpjp 

A) nfg;yhpd; Kjyhk; tpjp 

B) nfg;yhpd; ,uz;lhk; tpjp 

C) nfg;yhpd; %d;whk; tpjp 

D)epA+l;ldpd; <h;g;G tpjp 
54. jtwhd nrhw;nwhlh;(fis) fhz;f: 

I. vy;yh Nye;jidLfSk; fjphpaf;fj; 
jd;ikaw;wit. 

II. rpy Mf;bidLfs; MO2
+
, MO2

2+ tif 
Mf;Nrh Neh; madpfsi cUthfpd;wd. 

III. Mf;bidL Nrh;kq;fisf; fhl;bYk; 
Nye;jidL Nrh;kq;fs; mjpf fhuj; 
jd;ikAilad. 

IV. 5f thpirj; jdpkq;fs; khWgl;l 

Mf;]p[Ndw;w epiyfshd  +2, +3, +4, +5, 

+6 kw;Wk; +7 cilad. 
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A) I kw;Wk;  II  B) II kw;Wk;  IV 

C) III kl;Lk;  D)IV kl;Lk; 
55. kh]; gQ;R vd;gJ 

A) mNrhyh  B) /GNdhpah 

C) iel;nly;yh      D)];ghf;dk; 
56. vr;.I.tp. itu]py; fhzg;gLk; kuGg; nghUs; 

------- MFk;. 

A) b.vd;.V 

B) xhpio b.vd;.V 

C) <hpio Mh;.vd;.V 

D)xhpio Mh;.vd;.V 

57. பபங்களூரில் பே஺டங்க஻஬ இந்ே஻஬ லி஫஺னத் 
பே஺ற஻ல் கண்க஺ட்ச஻஬ில் இந்ே஻஬ 

லி஫஺னப்பனட஬ில் தசர்த்துக்பக஺ள்ரப்பட்ட 

லி஫஺னம்                                                                                                    

A) தேத்஭஺    B)஫஻த்஭஺                                                   
C) ஜ஻த்஭஺    D) ே஻த்஬஺         

58. CERN அன஫ப்பில் இந்ே஻஬஺ இனை 

உறுப்பின஭஺க இனைந்துள்ரது. ஌ற்கனதல 

஋ந்ே ஆண்டு ப௃ேல் ப஺ர்னல஬஺ர஭஺க 
உள்ரது                                          

A) 2005   B) 2004                                                             

C) 2010   D) 2007     
59. ,ja miwfspd; RUq;Fk; (rp];Nlhy;) 

kw;Wk; tphptiljy; (ila];Nlhy;) ,t;thW 
miof;fg;gLfpwJ. 

A) nkhj;jf;$Ljy;  

B) fhh;bahf; Row;rp 

C) Vw;G ,ayhf; fhy msT 

D),jaj;jpypUe;J ntspgLk; FUjpapd; 
msT 

60. fPo;tUk; epWtdq;fs; mJ epWtg;gl;l 
Mz;Lld; nghUj;jp rhpahd tpiliaj; 
Njh;e;njL: 

A) rpj;juQ;rd; 
uapy;ngl;b 
njhopw;rhiy 

- 1986 

B) uapy; ngl;b 
njhopw;rhiy 

- 1984 

C) xUq;fpize;j ngl;b 
njhopw;rhiy 

- 1947 

D) uapy; rf;fu 
njhopw;rhiy 

- 1952 

A) 2314   B) 3142 

C) 3412   D)2143 

61. 1, 1, 2, 3, 5, 8, 13,…… vd;w njhlh; 
thpirapd; 9tJ cWg;G 

A) 21   B) 25 

C) 34   D)23 

62. PURA khjphpapy; gpd;gw;wg;gLk; mZFKiw 

A) Gjpa fhe;jp mZFKiw 

B) Gjpa NeU mZFKiw 

C) fhe;jp NeU rkur mZFKiw 

D)rkjh;k mZFKiw 
63. flypy;> Mg;bfy; iggh; Nfgps; %yk;> Ng 

M/g; ngq;fhy; Nfl;Nt” vd;w jpl;lj;jpy; 
ve;j ,U ehLfs; ,izf;fg;gLfpwJ? 

A) me;jkhd; epNfhghh; jPTfs; kw;Wk; 
nrd;id 

B) ,e;jpah kw;Wk; ,yq;if 

C) kNyrpah kw;Wk; xkd; 

D)kNyrpah kw;Wk; kj;jpa fpof;F ehLfs; 

64. jkpo;ehl;by; fhl;Lkapy; ruzhyak; vq;F 
fhzg;gLfpwJ? 

A) Nfhbaf;fiu  B) KJkiy 

C) Kz;le;Jiw  D)tpuhypkiy 

65. RUf;Ff:1/10 * 1/10 = 

A) 0.01   B) 0.001 

C) 0.0001   D)0.1 

66. Mhpa rkh[j;jpdh; ntspapl;l nra;jp 

gj;jphpf;if 

A) Mhpa rkh[k;  B) Mhpa gpufh\; 

C) epa+ ,e;jpah  D)rj;jpahh;j gpufh\; 

67. 16 cld; ve;j vz;izf; $l;bdhy; -31 

fpilf;Fk;? 

A) 15   B) -15 

C) 47   D)-47 

68. RUf;Ff: (1 ¾ * 3 1/7) – (4 3/8 ÷ 5 3/5) = 

A) 1 23/32   B) 2 23/32 

C) 4 23/32   D)3 23/32 

69. ,uz;L vz;fspd; $Ljy; 43> mitfspd; 
tpj;jpahrk; 13 vdpy; me;j vz;fspd; 
ngUf;fy; gyd;   

A) 400 B) 410        C) 420 D)430 

70. kj;jpa nghJg;gzpahsh; Njh;thizaj;jpd; 
jiyth; kw;Wk; cWg;gpdh;fis epakdk; 
nra;gth; 
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A) FbauRj; jiyth;  

B) gpujk ke;jphp 

C) Jiz FbauRj; jiyth; 

D)cr;r ePjpkd;w ePjpgjp  

71. xU egh; jd;dplk; &.75 ,yl;rk; 
itj;Js;shh;.  mth; xU fl;blj;ij 
thq;Ftjw;fhf &. 48 ,yl;rj;jp 85 Mapuk; 
nryT nra;jhh; vdpy; mthplk; vt;tsT 

gzk; kPjp ,Uf;Fk;? 

A) 40 ,yl;rk; 

B) 26 ,yl;rj;jp 15 Mapuk; 

C) 20 ,yl;rj;jp 25 Mapuk; 

D)33 ,yl;rk; 

72. ச஻ட்னி சர்லதேச படன்னிஸ் பே஺டரின் 

஫கரிர் ஒற்னம஬ர் பிரிலில் ச஺ம்பி஬ன் 

பட்டம் பபற்மலர்  
A) தஜ஺கன்ன஺ தக஺ன்ட஺                                                                          

B) அக்னஸீ்க஺ ஭த்லன்ஸ்க஺                                                                      
C) ச஺னி஬஺ ஫஻ர்ஸ஺                  

D) ப஺ர்தப஺஭஺  
73. xU Ntiyia 12 egh;fs; 15 ehl;fspy; 

Kbg;gh;.  mNj Ntiyia 20 egh;fs; 

vj;jid ehl;fspy; Kbg;gh;? 

A) 10 ehl;fs;  B) 5 ehl;fs; 

C) 25 ehl;fs;  D)9 ehl;fs; 

74. xU kfpo;Te;J 3 kzp Neuj;jpy; 150 fp.kP. 
Jhuj;ij flf;Fk; vdpy; 12 epkplj;jpy; me;j 
kfpo;Te;J vt;tsT Jhuj;ij flf;Fk;? 

A) 15 fp.kP.  B) 20 fp.kP 

C) 36 fp.kP   D)10 fp.kP 

75. 11kP> 10kP> 7kP msTs;s fdr; nrt;tfj;jpd; 
fd msitf; fhz;f: 

A) 800 kP 3  
B) 770 kP 3 

C) 740 kP 3   
D)710 kP 3 

76. xU rJuj;jpd; %iytpl;lk; 10 nr.kP vdpy; 
mjd; gf;f msT 

A) 5√2cm   B) 2√5 cm 

C) 3√5 cm   D)5√3 cm 

77. xU gs;spapy; cs;s fiyf; $lj;jpy; ePsk; 
45 kP> mfyk; 27 kP.  fiyf; $lj;ijr; 
Rw;wp ntspg;Gwkhf 3 kP mfyKs;s 

jho;thuk; cs;sJ.  jho;thuj;jpd; gug;gsT 
vd;d? 

A) 864 m
2   

B) 846 m
2
 

C) 468 m
2   

D)648 m
2
 

78. xU Fwpg;gpl;l njhifahdJ 10% jdp tl;b 
tpfpj;jpy; %d;W klq;fhfpwJ vdpy; 
Mz;Lfspd; vz;zpf;if fhz;f 

A) 25 Mz;Lfs;  B) 20 Mz;Lfs; 

C) 30 Mz;Lfs;  D)15 Mz;Lfs; 

79. jhuzpapd; taJ> uhzpapd; tajpypUe;J 3 
FiwT.  uhzpapd; taJ 18 vdpy; uhzp 
kw;Wk; jhuzpapd; taJ tpfpjk; ahJ? 

A) 5:6 B) 6:5        C) 3:6 D)6:3 

80. nkf;dPrpak; i`l;uhf;irbd; fiujpwd;  √2 
vd;why; mjd; fiujpwd; ngUf;fj;jpd; 
kjpg;G ahJ? 

A) 8   B) 4√2 
C) 8√2   D)9√2 

81. tp[ah miu kzp Neuj;jpy; 540 
thh;j;ijfis jl;lr;R nra;fpwhh;.  9 
epkplj;jpy; mth; vj;jid thh;j;ijfis 
jl;lr;R nra;thh;? 

A) 164 thh;j;ijfs;   

B) 172 thh;j;ijfs; 

C) 152 thh;j;ijfs;   

D)162 thh;j;ijfs; 

82. 20 லது தேச஻஬ ஫஻ன்னணு ஆட்ச஻ ஫஺ே஺டு 

ேனடபபற்ம  இடம்                 

 A) ஫ஜ஻ய஻   

B) அஸ்ஸ஺ம் –ே஻ஸ்பூர்                           
C) லிச஺கப்பட்டினம்    

D) புது ே஻ல்ய஻   
83. 150> 225 vd;w ,U vz;fspd; kP.ngh.t. 75 

vdpy; mt;ntz;fspd; kP.ngh.k? 

A) 450 B) 225       C) 400 D)325 

84. 1200 –y; 25% vt;tsT? 

A) 300   B) 900 

C) 1000   D)600 

85. amyFfs; MuKk;> b myFfs; cauKk; 
nfhz;l xU Neh;tl;l cUisapd; 
tisgug;G 

A) ∏a
2
b r. myFfs;  

B) 2∏ ab r. myFfs; 
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C) 2∏ r. myFfs;   

D)2 r. myFfs; 
86. xU xspfw;iwahdJ xU Clfj;jpy; ,Ue;J 

kw;nwhU Clfj;jpw;F khWk; nghOJ 
fPo;fz;ltw;Ws; ve;j gz;G khwhjJ. 

A) xspfw;iwapd; epwk; 

B) xspfw;iwapd; jpirNtfk; 

C) xspfw;iwapd; miyePsk; 

87. D)xspfw;iwapd; mjph;ntz RUf;Ff: (2
3
)
2
 / 

5
3
 * (125)

2/3
 / 2

4
 = 

A) 5/4   B) 4 

C) 4/5   D)5 

88. RUf;Ff: [[[1/2]
2
]
-2

]
-1

 = ? 

A) 1/16   B) 16 

C) -1/16   D)-16 

89. 5 vz;fspd; ruhrhp 40.  mt;ntz;fspy; 
xd;iw ePf;Fk;NghJ ruhrhpapd; kjpg;G 10 
Fiwe;jhy; me;j ePf;fg;gl;l vz; ahJ? 

A) 60 B) 40        C) 80 D)100 

90. குடி஬஭சுத்ேனயலர் தேர்ேல் ப௃னம ஋ந்ே 
ே஺ட்டில்  இருந்து பபமப்பட்டது  

A) இத்ே஺ய஻   B) இங்க஻ய஺ந்து   

C) அ஬ர்ய஺ந்து   D)அப஫ரிக்க஺  

91. RUf;Ff:  128
3

 ÷ 64
3

 

A)  4
3

   B)  8
3

 

C)  6
3

   D) 2
3

 

92. O(0> 0)> A(3> 0)> B(0> 2) – I cr;rpfshff; 

nfhz;l Kf;Nfhzj;jpd; gug;G 

A) 6 r. myF  B) 2 r. myF 

C) 3 r. myF  D)12 r. myF 

93. (1> 2) (-3> 4) kw;Wk; (-5> -6) Mfpatw;iw 

Kidfshff; nfhz;l Kf;Nfhzj;jpd; gug;G 

A) 11 r. myF  B) 15 r. myF 

C) 25 r. myF      D)22 r. myF 

94. ஹணீ்ட்ரு அருலி இந்ே஻஬஺லின் ஋ந்ே 
ேக஭த்ே஻ல்  உள்ரது                                                                           

A) புதன            B) சூ஭த்           

C) ஭஺ஞ்ச஻             D) தப஺ப஺ல் 

95. உலகின் ஫ிகச்சிறந்த வி஫ான நிலல஬஫ாக 

ததர்வா உள்ள சாங்கி வி஫ான நிலல஬ம் 

எங்குள்ளது  

A) சிங்கப்பூர்   B) துபாய்  

C) ஓ஫ன்    D) இந்தி஬ா 
96. ஋ந்ே உ஬ர்ேீே஻஫ன்மம் கங்க஺ ஬ப௃ன஺  

ே஻கனரliving entity ஆக அம஻லித்துள்ரது              

A) உத்ே஻஭க஺ண்ட்  B) படல்ய஻ 
C) த஫ற்குலங்க஺ரம்  D) பகீ஺ர் 

97. 92 லருட ப஺஭ம்பரி஬஫஻க்க ஭஬ில்தல 

பட்பஜட் பப஺து பட்பஜட்டுடன் இனைக்க 
க஺஭ை஫஺ன குழு   

A) பிதபத் தேப்஭஺ய் குழு     

B) த஫஺கன஭஺வ் குழு    

C) ஫தன஺ஜ்கு஫஺ர் குழு      

D) P. N. ஭஺வ் குழு 

98. ச஫ீபத்ே஻ல் ேனடபபற்ம ஸ்ரீ ேகர் 
இனடத்தேர்ேய஻ல் பலற்ம஻ பபற்மலர்  
A) உ஫ர் கர்ே஺ப்    

B) ஃபரூக் அப்துல்ய஺   
C) உே஬கு஫஺ர்    

D) பஜபஸ்டின்                                    

99. பபண் ஋ழுத்ே஺ரர்கனர ஊக்குலிக்க 
தேசனல் புக் டி஭ஸ்ட் துலக்க஻஬ ே஻ட்டம்  

A) Mahila Lekhak Protahan Yojana   

B) Sinha Lekhak Protahan Yojana     

C) Sinthu Lekhak Protahan Yojana    

D) Women Lekhak Protahan Yojana 

100. தலறு லிண்஫ீன்கனரச் சுற்ம஻லரும் 

பூ஫஻ன஬ப்தப஺ன்ம தக஺ள்கனர 

ஆ஭஺ய்லேற்பகன ே஺ச஺ லிண்பலரிக்கு 

அனுப்பி஬ லிண்பலரி பே஺னயதே஺க்க஻ 
லிண்கயம் ஋து    

A) ப஫ன஭னர் – 3 B) னலக஻ங் – 1                

C) பகப்ரர் – 2  D) பனீிக்ஸ்     
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Model Test 7(General Studies) - TNPSC Group 2 (A)
1. Who was called “Light of the world”? 

A) Nurjahan  B) Mumtaj 

C) Shajahan  D) Humayun 

2. Consider the following statements: 

I. The tail of the Comet is seen in the North 

direction of the Sun. 

II. The tail of the Comet is seen in the West 

direction of the Sun. 

III. The tail of the Comet is seen in the 

opposite direction of the Sun. 

IV. The tail of the Comet is seen in the South 

direction of the Sun. 

Which of these above statements is/are 

correct? 

A) I and II correct  B) III only correct 

C) II and IV correct D) IV only correct 

3. Asoka Mitran received Sahitya Academy 

award for his famous Book 

A) Friend of My Father 

B) Water 

C) Once in My Life 

D) Today 

4. Indian Council of Historical Research is going 

to undertake an archaeological exploration to 

find a monument whether man made or 

natural.  Name the monument. 

A) The Great Barrier Reef 

B) Adams Bridge 

C) The Sundarbans at Bengal 

D) The Dolmen‟s caves 

5. After the Second World War who came to 

power in England 

A) Clement Atlee   

B) Sir Stafford Cripps 

C) Sir Jhon Simon   

D) A.V. Alexander 

6. A and B travel the same distance at the speeds 

of 10 kmph and 15 kmph respectively.  If A 

takes 30 minutes longer than B then distance 

travelled is 

A) 15 km   B) 20km 

C) 90km   D) 30km 

7. Remainder when the polynomial 5x
3
+2x

2
-

6x+12 divided by (x+2) is 

A) 5x
2
-8x+10  B) x+8 

C) -8   D) -72 

8. Edge of a cube is increased by 50% then find 

percentage increase in total surface area of the 

cube: 

A) 108%   B) 125% 

C) 90%   D) 80% 

9. 129
2
 – 29

2
= ? 

A) 12000   B) 15000 

C) 15800   D) 10000 

10. Sum of a number and its reciprocal is 4 then 

value of sum of cube of the number and 

reciprocal of the cube is 

A) 64   B) 52 

C) 48   D) 24 

11. An angle and its supplementary angle are in 

the ratio 4:5 then that angle is 

A) 80˚   B) 100˚ 
C) 40˚   D) 50˚ 

12. HCF of x
2
 – 2xy + y

2
 and x

4
 – y

4
 is 

A) 1   B) x+y 

C) x-y   D) x
2
-y

2
 

13. TAMIL  is coded as RCKKJ then MATHS is 

coded as 

A) KCRJQ   B) KCRRU 

C) RCKKU  D) RCKJQ 

14. Among five liquids A, B, C, D, E the boiling 

point of A is less than that of E but more than 

that of B where B has a higher boiling point 
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than C.  The boiling point of D is higher than 

that of E.  Which liquid has the least boiling 

point? 

A) A   B) B 

C) C   D) D 

15. n
th

 term of a series is given by an = (-1)
n
(1-

n+2
n
).  Then 5

th
 term of the series is 

A) -21   B) -6 

C) -28   D) 6 

16. The MIG legal Aid scheme of supreme court 

has been launched for middle income group 

people whose gross income is not more than 

Rs ____ per month 

A) Rs. 75000  B) Rs. 60000 

C) Rs. 50000  D) Rs. 45000 

17. Which of the following application is most 

downloaded in India for the year 2016? 

A) Whatsapp  B) Facebook 

C) Hike   D) Chrome 

18. The Haj Committee of India (HCOI) is the 

states tory body of which of the following 

Union  Ministry? 

A) Ministry of Defense 

B) Ministry of Home Affairs 

C) Ministry of Minority Affairs 

D) Ministry of Tourism 

19. Which of the following film has won the best 

film award at the 62
nd

 Jio film fare awards? 

A) Sultan       B) Dangal        

C) Pink   D) Fan 

20. Astronaut „Eugene Cernan‟ the last man on 

moon is passed away recently is the 

commander of which mission of Nasa? 

A) Apollo 17  B) Apollo 16 

C) Apollo 15  D) Apollo 14 

21. Three numbers are in the ratio 2:3:5.  The first 

number, the second number redued by 5 abd 

the third number form an arithmetic sequence.  

Then the number are 

A) 10,15,25  B) -20,-30,-50 

C) 7,10,14   D) -10,-5,7 

22. The difference between simple interest and 

compound interest at 10% per annum each on 

Rs. 1,200 for one year if reckoned half yearly 

is 

A) Rs. 2.50  B) Rs. 3 

C) Rs. 4   D) Rs. 4.50 

23. Match the following: 

a) Fort William was 

built in Calcutta 

- 1503 

b) Dutch established 

factories in Pulicat 

- 1700 

c)  French established 

factories in 

Pondicherry 

- 1610 

d) Albuquerque 

visited India 

- 1674 

A) 2134   B) 2431 

C) 2341   D) 2314 

24. Match the following: 

 Trenches Locations 

a) Mariana - South Atlantic 

Ocean 

b) Romanche - South Pacific 

Ocean 

c) Sunda - North Pacific 

Ocean 

d)  Atakama - East Indian 

Ocean 

A) 3124   B) 3142 

C) 4213   D) 2134 

25. Assertion (A) :Ghaggar is the river of inland 

drainage. 

Reasoning (R): It gets lost in the sandy area of 

Rajasthan. 

A) Both[A] and [R] are correct and[R] is the 

correct explanation of [A] 

B) Both [A] and[ R] are correct and [R] is not 

the correct explanation of [A] 

C) [A] is correct but [R] is false 

D) [A] is false but [R] is correct. 

26. Find out the wrong statements: 

1. The newspaper “Kesari” was published in 
English. 

2. “The Mahratta” was issued in Marathi 
3. Thebook “Orion” was written by Tailk 

4. Tilak taught in the Fergusson college of 

Deccan. 

A) 1 and 2 only  B) 2 and 3 only 

C) 3 only   D) 4 only 

27. Who is the author of the book The Turbulent 

Years? 

A) Pramab Mukherjee 

B) Alok Kumar Verma 

C) PramodKapoor 
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D) KartarLalvani 

28. The world‟s lightest material called „Silica 
aerogel‟ or „Blue air‟ is manufactured at 
A) Vikram Sarabhai Space Central (VSSC) 

Thiruvananthapuram 

B) ISRO, Bangalore 

C) NRSC, Hyderabad 

D) SAC, Ahmedabad 

29. Which state has “Cyber Park”? 

A) Andhra Pradesh B) Kerala 

C) Rajasthan  D) Madhya Pradesh 

30. The Sugamya Bharat Abhiyan does not aim 

A) To build accessible government buildings 

for persons with disabilities. 

B) To enhance accessibility and usability of 

public transport information and 

communication. 

C) To increase the accessibility of physical 

environment in the country. 

D) To impose fine on buildings inaccessible to 

persons with disabilities 

31. National Small Industries Corporation (NSIC) 

was established in the year. 

A) 1950   B) 1955 

C) 1960   D) 1965 

32. The basic aim of economic planning in India 

is promoting. 

A) Economic developmemt 

B) Increasing national income 

C) Economic growth 

D) Increasing employment opportunities 

33. Which of the following are the sources to 

know about “Kalabhras”? 

I. Tamil NavalarCharithai 

II. Yapperungalam 

III. PeriyaPuranam 

IV. Velvikkudi Plates 

A) I and II only  B) I and III only 

C) I,II,III and IV  D) I,III and IV only 

34. Assertion: In 1940 at Lahore session the 

Pakistan resolution was passed by the Muslim 

league. 

Reason: Jinnah declared that the Muslims 

were not in minority and need a nation. 

A)[A] is correct [R] is wrong 

B)[R] is correct [A] is wrong 

C) [A] and [R] are correct and [R] explains 

[A] 

D)[A] and[R] are correct but[ R] does not 

explain [A] 

35. Match the following with their established 

year and choose the correct option: 

a) Chittarangan locomotive works – 1986 

b) Rail coach factory – 1984 

c) Integral coach factory – 1947 

d) Rail wheel factory – 1952 

A) 2314   B) 3142 

C) 3412   D) 2143 

36. C+I+G+(X-M) – formula is used to calculate 

A) GDP – Gross Domestic Product 

B) NNP – Net National Product 

C) PI – Personnal Income 

D) GNP – Gross National product 

37. Equal justice and free legal aid is provided in 

the constitution under  

A) Article 39  B) Article 39 A 

C) Article 38  D) Article 38 A 

38. The approach followed by PURA model is 

A) Neo Gandhian approach 

B) Neo Nehruvian approach 

C) Gandhi – Nehru Compromise approach 

D) Socialistic approach 

39. Consider the following statement and choose 

the correct answer from the codes given 

below: 

A) Assertion: Jawaharlal Nehru was the Chief 

Architect of India‟s foreign policy. 
R) Reason: After Independence India wanted 

to maintain friendly relationship with 

America.  VijayalakshmiPandit was appointed 

as American Ambassador in 1949. 

A) Both [A] and [R] are correct [R] is the 

correct explanation of [A] 

B) Both [A] and [R] are incorrect 

C) [A] alone is correct [R] is incorrect 

D) Both [A]and [R] are correct and [R] is not 

the correct explanation of [A] 

40. Which of the statements given below is / are 

correct? 
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1. Congress form the interim Government with 

Nehru as the vice-President. 

2. Muslim league decides to join the Interim 

Government on October 13
th

 1946. 

3. Constituent Assembly meets without 

Muslim league members on 9
th

 December 

1946. 

4. Indian Independence Bill received Royal 

Assents on 18
th

 July, 1947. 

A) 1 and 3 only  B) 3 only 

C) 1,2 and 4 only  D) 1,2,3 and 4 

41. The main recommendation of “The Tarkunde 
committee” on electoral reforms in 1975 is 
about 

A) Election commission should be made as a 3 

member body. 

B) Appointment of election commission 

members by PM in consultation with chief 

justice of India. 

C) Appointment of election commission by 

president and prime minister. 

D) Appointment of EC by prime minister, 

leader of opposition party in LokSabha and the 

chief justice of India. 

42. According to economic intelligence unit India 

has 4 cities in cheapest city in the world, then 

what is the rank of Mumbai in that list 

 A) 3
rd

 B) 7
th

    C) 6
th

       D) 10
th

 

43. Airbus has signed an MoU with which state to 

set up a centre of excellence for aerospace 

skill development? 

A) Karnataka  B) Haryana 

C) Telegana  D)Jammu&Kashmir 

44. Who has been honored with the „sportsman of 
the year‟ award at the 2017 Laurens world 

awards? 

A) Usain Bolt   B) Tyson Gay 

C) Asata Powell  D) Maurice Greene 

45. Who has been appointed as the high 

commissioner of India to Canada? 

A) Syed Akbaruddin B) Vikas Swarup 

C) Mohan Kumar  D) Vijay Gokhale 

46. The sides (in c.m) of a right angled triangle 

are x-1, x, x+1.  Then area of the right angled 

triangle is 

A) 12sq.cm  B) 6 sq. cm 

C) 20 sq. cm  D) 22 sq. cm 

47. A cuboid box has the square base of side a cm 

and height b cm then volume of the box is  

A) a
2
b

2
cm

3
   B) ab

2
 cm

3
 

C) a
2
b cm

3
   D) a

2
b

2
/3 cm

3
 

48. Price of a suitcase is increased from Rs. 2,000 

to Rs. 2,500.  What is the percentage of 

increase? 

A) 20%   B) 22% 

C) 30%   D) 25% 

49. The difference between simple interest and 

compound interest on Rs. 2,400 at 2 years at 5 

% per annum compounded annually 

A) Rs. 5      B) Rs. 6      C) Rs.      D) Rs. 8 

50. Three men A, B and C can complete a work in 

10, 15, 30 days respectively.  A and B work 

together for 3 days then A leaves and C joins.  

In how many days can B and C finish the 

remaining work? 

A) 5 days   B) 6 days 

C) 10 days   D) 7 days 

51. A car covers a distance of 90 km at a uniform 

speed.  Had the speed been 15km/hr, more, 

then it would have taken 30 minutes less for 

the journey.  Then actual speed of the car is 

A) 45 km/hr  B) 75 km/hr 

C) 60 km/hr  D) 90 km/hr 

52. Find the total volume of 14 cubes whose edges 

are 12cm, 13 cm, 25 cm respectively. 

A) 621019cm
3
  B) 269101cm

3 

C) 962101cm
3
  D) 101269cm

3
 

53. The radii of two cylinders are in the ratio 3:5 

and their heights are in the ratio 2:3.  Find the 

ratio of their curved surface areas 

A) 2:5   B) 3:5 

C) 2:3   D) 1:1 

54. The cost of carpeting a room of 18m long with 

a carpet of 75cm wide at Rs. 4.50 per meter is 

Rs. 810.  The breadth of the room is 

A) 7m       B) 7.5m      C) 8m      D) 8.5m 

55. If the diagonals of two squares are in the ratio 

2:5, find the ratio of their areas 

A) 2:5   B) √2:√5 

C) 4:25   D) 8:125 

56. The national regulatory authority of which 

country has been awarded the highest rating 
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by the WHO (World Health Organisation) as 

functional vaccine regulatory system?  

A) Brazil      B) Japan     

C) India         D) Korea 

57. Which of the following committee 

recommended the setting up of Central 

Vigilance Committee? 

A) Rajmannar Committee 

B) Sarkaria Committee 

C) Kothari Committee 

D) SanthanamCommittee 

58. Match List I with List II: 

 List I List II 

a) Apple falls 

from tree 

- Frictional 

Force 

b) Car comes to 

stop 

- Electric 

Force 

c) Beam of Ink 

drops in 

printer 

- Buoyant 

Force 

d) Helium 

Balloon rises 

from Land 

- Gravitational 

Force 

A) 1234   B) 3241 

C) 4123   D) 2314 

59. What are deuterium and tritium? 

A) Two different elements 

B) Two Different compounds 

C) Names of two ores 

D) Isotopes of hydrogen 

60. Match the following: 

I) 

Carbon 

dioxide 

a)Vulcaniza

tion of 

rubber 

i)insectic

ide 

II) Fuel b) Carbon 

black 

ii) 

beverage

s 

III) 

Rubber 

tires 

c) Fire 

extinguishe

r 

iii) ink 

pigment 

IV) 

Carbon 

disulph

ide 

d) Reducing 

agent 

iv) 

Carbon 

monoxid

e 

A) I-c-ii II-d-iv III-b-iii   IV-a-i 

B) I-c-iii II-d-ii III-b-i     IV-a-iv  

C) I-a-i II-b-iii III-d-iv     IV-c-ii 

D) I-b-iv II-d-ii III-c-iii    IV-a-i 

61. Match the following: 

a) Pyridoxine - Vitamin 

B5 

b) Riboflavin - Vitamin 

B1 

c) Thiamine - Vitamin 

B6 

d) Niacin - Vitamin 

B2 

A) 2134   B) 4312 

C) 3421   D) 3241 

62. Five kingdom classification was proposed by 

A) Wittaker  B) Dickens 

C) Charles Darwin D) Carl Linnaeus 

63. Match List I (vaccine) with List II Disease) 

and choose the correct answer: 

 List I List II 

a) Pertusis - Typhoid 

b) Varicella - Chicken pox 

c) TAB - Polio 

d) OPV - Whooping 

cough 

A) 4123   B) 4213 

C) 2431   D) 3241 

64. Selling equity shares of public sector 

enterprises refers to 

A) Bull market   

B) Exchange of shares 

C) Disinvestment 

D) Open market operations 

65. In calculating the country‟s GNP at market 

prices which one of the following is not 

included? 

A) Subsides  

B) Wages and salaries before tax 

C) Indirect taxes 

D) Depreciation allowance 

66. Which Russian traveller visited Bahmani 

Kingdom? 

A) IbnBatuta  B) Marco Polo 

C) Athanasius Nikitin D) Nicolo de Conti 

67. Consider the following about “Gurudwara”. 
1. Sikh Shrine is called a Gurudwara, meaning 

the doorway to the house of God. 

2. The first Gurudwara was built by Guru Ram 

Singh. 

3. Sikh Gurudwara must have a religious flag 

called Nishan Sahib in front of the Gurudwara. 
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Choose the correct code: 

A) 1 and 3 only  B) 1 only 

C) 2 and 3 only  D) 1,2 and 3 only 

68. From which country we have borrowed the 

concurrent list? 

A) Canada   B) Australia 

C) America  D) England 

69. Which of the following articles of the Indian 

constitution deals with the abolition of 

untouchability? 

A) Article 14  B) Article 15 

C) Article 16  D) Article 17 

70. The word „integrity‟ was added in the 
preamble of the constitution of india in the 

year 

A) 1956     B) 1961     C) 1976       D) 1981 

71. Which law is called as the law of periods? 

A) Kepler‟s First Law 

B) Kepler‟s Second Law 

C) Kepler‟s Third Law 

D) Newton‟s Law of Gravitation 

72. Find out the incorrect statement(s): 

I. All lanthanides are non-radioactive 

II. Some actinides form MO2
+
, 

MO2
2+

oxocations 

III. The compounds of lanthanides are more 

basic than that of actinide compounds 

IV. 5f elements show variable oxidation states 

like +2, +3, +4, +5, +6 and +7 

A) I and II   B) II and IV 

C) III only   D)IV only 

73. If the solubility of magnesium hydroxide is 

√2, the value of solubility product is 

A) 8   B) 4√2 

C) 8√2   D) 9√2 

74. Moss cotton is 

A) Azolla   B) Funaria 

C) Nitella   D) Sphagnum 

75. H.I.V has ------- as genetic material. 

A) DNA    

B) Single stranded DNA 

C) Double stranded RNA 

D) Single stranded RNA 

76. Which state government has announced 

“Advanced Farming Enriched 

Farmers”scheme with an aim to increase 

farmers  income? 

A) Gujarat   B) Rajasthan 

C) Madhya Pradesh D) Maharashtra 

77. Who has been nominated to be the next 

chairman of the public‟s account committee of 
parliament? 

 A) Manoranjan Bhatkha 

 B) MalliKarjun Kharge 

 C) Nishikant Dubey 

 D) Ram Naik 

78. Which country was the first to introduce the 

plastic note to safeguard against counter 

feiting? 

 A) USA   B) China 

 C) Australia  D) Japan 

79. Mouda super thermal power station is located 

in which state? 

 A) West Bengal  B) Karnataka  

 C) Maharastra  D) Tamilnadu 

80. „Equal pay for Equal Work‟ provided under 
A) Article 39A  B) Article 39B 

C) Article 39C  D) Article 39D 

81. A sum on compound interest becomes three 

times in 4 years.  How many years will it take 

to become 27 times the original if the interest 

is calculated at the same rate. 

A) 8 years   B) 12 years 

C) 24 years  D) 36 years 

82. The ratio of incomes of A and B is 5:4 and the 

ratio of their expenditure is 3:2.  If at the end 

each month, each saves Rs. 1,600, then the 

monthly income of B is 

A) Rs. 3,200  B) Rs. 4,000 

C) Rs. 3,600  D) Rs. 4,400 

83. The speed of three cars are in the ratio 5:4:6.  

The ratio between the time taken by them to 

travel the same distance is 

A) 5:4:6   B) 6:4:5 

C) 10:12:15  D) 12:15:10 

84. Three solid cubes of sides 1cm, 6cm and 8cm 

are melted to formed a new cube.  Find the 

total surface area of the cube so formed? 

A) 684cm
2
   B) 456cm

2
 

C) 486cm
2
   D) 430cm

2
 

85. The simple interest at x% for x years will be 

Rs. x on a principal of 

A) Rs. x   B) Rs. 100/x 
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C) Rs. 100x  D) Rs. 100/x
2
 

86. National champion K.T.Irfan wins bronze in 

Asian race walking championship at event 

held at? 

 A) Phillipines  B) Japan 

 C) India   D) Srilanka 

87. Match the Following: 

Jawahar Gram  

SamriddhiYojana 

- 2000-

2001 

National Social 

Assistance Programme 

- 1993 

Employment 

Assurance Scheme 

- 1999 

PradhanmantriGramod

ayaYojana 

- 1995 

A) 3124 B) 4312      C) 3421 D) 2314 

88. “Go back to Vedas” was the motto of 
A) Swami DayanandaSaraswathi 

B) Ramakrishna 

C) Vivekananda 

D) Raja Ram Mohan Roy 

89. The Indian constitution came into force on 

A) January 26
th

 1950 B) February 261950 

C) August 26
th

 1950 D) March 26
th

 1950 

90. In many countries „Poverty lines‟ are 
measured through the level of  

A) Nutrition  B) Population 

C) Per Capita Income D) National Income 

91. Before the advent of the constitution, India 

was governed under which Act? 

A) Government of India Act, 1935 

B) Government of India Act, 1915 

C) Government of India Act, 1925 

D) Government of India Act, 1945 

92. Identify the correct group of schemes targeting 

women and girls 

A) DWCRA, MS, SSA, GKY 

B) KGBVS, NPEGEL, MS, DWCRA 

C) NPEGEL, DWCRA, PMRY, SITRA 

D) MS, NPEGEL, SSA, KGBVS 

93. Swachh Bharat Abhiyan is a Campaign by the 

Government of India towards what? 

A) Cleaning the streets and Road 

B) Electrification of villages 

C) Literacy to all 

D) Women employment 

94. Substance which are used as respiratory 

substrates are 

A) Carbohydrate, Fats and Vitamins 

B) Carbohydrate, Protein and Vitamins 

C) Carbohydrates, Fats and Protein  

D) Fats, Proteins and Vitamins 

95. Which one of the following statement is not 

correct? 

A) The degree of obesity is assessed by BMI 

B) Normal BMI range for adults is 19-25 

C) Persons having BMI range above 19-25 

are considered as obese 

D) Men and women having BMI level below 

19-25 are considered as obese 

96. The enzyme that helps in blood clotting is 

A) Prothrombinase B) Fibrinogen 

C) Fibrin   D) Phospholipids 

97. With the help of the following clues find out 

the kind of budget: 

a. It is called a surplus budget 

b. It is also a case of deficit budget 

c. Modern economists argue that it is very 

useful for achieving economic

 stability 

d. The government‟s income or tax revenue

 and expenditure are not equal 

A) Revenue budget  

B) Balanced budget 

C) Zero based budget   

D) Unbalanced budget  

98. Who is the author of the book “Punjab : 
Building the land of five rivers”? 

A) Daljeet Borah  B) Gulshan Sharma 

C) Arjun Gaind  D) Vijay Ahlawat 

99. „Rongali Bihu  festival celebrated in which 

state of India? 

A) West Bengal  B)Himachal Pradesh 

C) Assam   D) Goa 

100. As per the world bank report the Indian 

economy is expected to grow at ______ % in 

2017. 

A) 7.2%         B) 7.5%    

C)7.8%         D)8.1% 
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